Course Title: A.P. Microeconomics, Spring 2008
Teacher: Stephen E. Reilly, Ph.D.  (Home Phone 610-828-4323; call before 9 p.m.)
Room: 324, Block 3 (E-mail: reilly@havsd.net)

COURSE DESCRIPTION AND METHODS:

Economics is the study of how society allocates scarce resources among mutually exclusive
ends.

This course will prepare students to take the Advanced Placement examination in
microeconomics--the study of how individual units within the economy (a person, a business,
an institution) makes logical decisions about production, distribution and consumption. The class
meets five times a week. Reading assignments before class is essential since the instructor will
not go over everything covered in the text, yet the student must master each concept. Students
are strongly encouraged to do the exercises in the DiscoverEcon 3.1 Software Tutorial before
class; they should ask in class about exercises that they find difficult. They should bring their
notebook and the text containing the daily assignment to class. Every student should
participate in class each day.

GOALS: The instructor has four major goals in teaching this course:

1. To introduce you to the discipline of economics and microeconomics in particular.
2. To prepare you for success in a rigorous college course.

3. To encourage you to think for yourself through critical reading and class discussion.
4. To use the educational technology available consistent with goals 1, 2, and 3.

EXPECTATIONS OF STUDENTS:

1. Take responsibility for your actions and achievement; make the most of opportunities.
2. Be respectful of others; no student has the right to interfere with the learning of others.
3. Be on task in class—no devices such as walkman or other distractions.

4.  Ask questions when there is something that you do not understand.

QUIZ AND RE-QUIZ POLICY:
There will be a quiz each week during class time to provide the student feedback on his or her

mastery of the material. Quizzes will be available in both multiple choice and identification and
problems format; students may choose which format of quiz they wish to take. Those planning
to take the AP exam should take quizzes in the multiple choice format since that will be an
important component of the AP exam.

Developing the ability to master material efficiently is part of learning. To that end, students
may take one re-quiz a week but will be given an incentive to become more self-sufficient
learners as the year progresses. They will receive the highest grade earned on a re-quiz during
the first quarter and some fraction of the improved grade in the second quarter and less in the
third quarters; in the fourth quarter there will be no re-quizzes. Students are encouraged to
meet with the teacher for review before taking a re-quiz. All re-quizzes for a particular week
must be completed before the first quiz on the material studied the next week is given.

A WORD TO THE WISE: Keep up with the assignments and the quizzes! While an occasional
re-quiz may prove helpful, you will find it difficult to do well if you are constantly behind.
Allocate your study time efficiently--this will be your personal economic challenge.

(OVER)



TEXTS: Campbell McConnell and Stanley Brue, Economics (E) 14" edition
Russell Roberts, The Choice (C) ’

GRADES will be determined by points earned out of total points available weekly quizzes, homework/classwork
assignments, exercises, four unit tests, and a final examination. The instructor will find a way to give credit for
intellectual activities that demonstrate an understanding of the material being studied at the time—talk to him about
this option as soon as possible. Students will earn 1 point on making period grades for each chapter set of

“Key Questions,” hand-written, turned in before the weekly quiz. Consideration will also be given for class
participation.

OUTSIDE READING: Do some—the more the better!

Newspapers including but not limited to:
Philadelphia Inquirer, The New York Times, Washington Post
and TheWall Street Journal

Newsmagazines including but not limited to:
Newsweek (Robert Samuelson’s column in particular), Time, Business Week,
Forbes, Fortune, The Economist, and_The National Revie

The Internet:
While there is much on the internet that is a mind rotting waste of time, there are
some sites useful for the study of economics. See E pp. xxxi-xxxii for examples. While we will
never “surf the net” in class, we will use the internet when appropriate. The publisher of your
textbook (E) has provided a rich web page for your use
(www.mhhe.com/economics/mcconnell/student). It includes self testing quizzes, answers to
key questions, a statistical update, and much more. See for yourself! If you have trouble
locating it, please see me—the sooner the better.

Columnists Who Write about Economic Available on the Web--A Challenge: Find an article on something we
are studying , bring it to class and discuss with me for 10 points extra credit. Discover a new economic columnist
with a critique, earn 20 points!

Boston Globe: (www.boston.com/globe/columns/warsh/)-- Michelle Singletary (Sunday)
Newsweek: (http://newsweek.com/)--Robert Samuelson (biweekly)
Washington Post: (www.washingtonpost.com/)
Robert Samuelson
David Ignatius
Time (www.time.com/time/) Daniel Kadlec
BusinessWeek (www.businessweek.com/contents.htm)--“Economic Viewpoint” Column
New York Times (www.nyt.com/)
Paul Krugman writes about economics on the editorial page.
The Wall Street Journal: Known for its conservative editorial page and for excellent reporting.

Please sign and date to signify that you have read and understood this syllabus.
Student Date
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Beyond Payday Loans Do REPRINTS
‘ &R) This copy is for your personal,
By WILLIAM J. CLINTON and ARNOLD SCHWARZENEGGER non-commercial use only. To order
January 24, 2008; Page A17 presentation-ready copies for

distribution to your colleagues,
. . y clients or customers, use the Order
The American dream is founded on the belief that people who work Reprints tool at the bottom of any

hard and play by the rules will be able to earn a good living, raise a el

2 Y f i www.djreprints.com.
family in comfort and retire with dignity.
+ See a sample reprint in PODF
a A S . format.
But that dream is harder to achieve for millions of Americans because -« Order a reprint of this article now.

they spend too much of their hard-earned money on fees to cash their
paychecks or pay off high-priced loans meant to carry them over until they get paid at work.

Here is one initiative that can unite progressives and conservatives as well as business leaders and
community activists: helping the "unbanked" enter the financial mainstream by opening checking and
savings accounts, and working collaboratively with financial institutions and community groups to
develop and market products that work for this untapped market. This will put money in the pockets
of individuals and grow the economy. And it won't cost taxpayers a dime.

Imagine the economic and social benefits of putting more than $8 billion in the hands of low- and
middle-income Americans. That is the amount millions of people now spend each year at
check-cashing outlets, payday lenders and pawnshops on basic financial services that most Americans
receive for free -- or very little cost -- at their local bank or credit union. Over a lifetime, the average
full-time, unbanked worker will spend more than $40,000 just to turn his or her salary into cash.

Many nonbank customers are either leery of banks or believe they do not have the products they need.
The result is that the market for basic financial services is booming. Today, the number of check
cashers, payday lenders and pawnshops is more than double the number of McDonald's franchises in
the United States. More than 20 million Americans cash more than $60 billion in checks each year at
check-cashing businesses. Full-time workers without a checking account typically pay $40 on average
to cash their paychecks. And payday lenders sell an additional $40 billion in expensive small-dollar
loans each year that carry fees 30 times the average credit-card rate.

But these Americans can become bank customers if they have access to the right products at the right
terms. and the support they need to make good, responsible financial decisions. People outside of the
financial mainstream are the heart of America. The vast majority of people without bank accounts
work, and they have an average household income of $27,000. Most are also married, have at least
one child, and are employed by a small business.

And consider that, according to a new Brookings Institution report, as much as $360,000 in pre-tax
wealth could be created if the average. full-time unbanked worker invested in the stock market what
he will spend over his lifetime paying to cash his paychecks. That would allow one of those workers
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he will spend over his lifetime paying to cash his paychecks. That would allow one of those workers
to finance about 25 years of retirement at his current standard of living.

This year, California will become the first state in the nation to launch an effort to help unbanked
residents open starter accounts -- the first step into the financial mainstream. Approximately 11% of
California households, including 25% of Latino and African-American households, do not have a
checking account. And nearly half of households in the state don't have a savings account.

In coordination with the Federal Deposit Insurance Corporation, we will partner with financial
institutions to increase the supply of starter accounts that work for unbanked consumers and banks.
We will form regional coalitions of financial institutions, mayors and community groups to market
accounts and help the unbanked build financial literacy. And we will build on work already being
done in San Francisco, where city officials, working with banks and credit unions, have already
signed up 11,000 individuals who previously had no checking or savings account.

The William J. Clinton Foundation's Economic Opportunity Initiative will help more people enter the
financial mainstream by supporting the work of California -- as well as that of mayors in Boston, Los
Angeles, Miami, New York, Providence, San Francisco, Savannah and Seattle, each of whom are
spearheading their own efforts. It will also work to engage additional cities and states, and the private
sector.

We need other leaders across the country in the public, private and nonprofit sectors to join this

effort. Banks and credit unions can expand their efforts to broaden access to transaction accounts and
alternatives to payday loans with terms attractive to the unbanked and underserved. They already

have the storefronts to compete for this business: More than 90% of nonbank alternatives are located P
within one mile of a bank or credit union branch.

Employers can also help reduce the financial stress in workers' lives and boost workplace morale by
helping employees to gain access to banking services, and to save and better manage their finances.
Community-based organizations can work with the public and private sectors to help people access
the trustworthy, high-quality money management support they may need to develop and sustain good
personal financial practices.

By working together, we can improve the lives of millions of people, boost our economy, and
strengthen our communities.

Mr. Clinton was the 42nd president of the United States. Mr. Schwarzenegger is governor of
California.

URL for this article:
hitp:/fonline.wsj.com/article/SB120113610711211855.htm|

Copyright 2008 Dow Jones & Company, Inc. All Rights Reserved

This copy is for your personal, non-commercial use only. Distribution and use of this material are governed by our
Subscriber Agreement and by copyright law. For non-personal use or to order multiple copies, please contact Dow Jones e
Reprints at 1-800-843-0008 or visit www.djreprints.com.
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Exercise Using the PPF Model.

In a speech before the American Society of Newspaper Editors on April 6, 1953, President
Eisenhower stated:

Every gun that is made, every warship launched, every rocket fired signifies, in the final
sense, a theft from those who hunger and are not fed, those who are cold and not clothed.
This world in arms is not spending money alone. It is spending the sweat of its laborers,
the genius of its scientists, the hopes of its children. . . . This in not a way of life at all in

the true sense. Under the cloud of threatening war, it is humanity hanging on a cross of
iron.

Answer the following questions on the basis of this quotation from a speech by the President

who, as a general, had led the victorious forces of the U.S., the English, and the French against
the Nazis in the western theater of World War II:

1. What factors of production did Eisenhower identify as the resources that must be allocated to
either defense spending or consumer goods?
(A) Guns, warships, rockets
(B) Food, clothing
(C) Money
@aborers, scientists, and the hopes of our children.

2. What are the final goods and services that society desues‘? o
(A) Guns ( \ ) ! "
(B) Warships ;
(C) Clothing
((D)) All of the above.

-

3. What would be placed on one of the axes of the production-possibilities frontier that
Eisenhower has implicitly described? /

(‘\) Guns, warships, rockets, and other armaments \

(B) Laborers, scientists, and other labor \

(C) Money 58

(D) None of the above.

4. Which of the following is the opportunity cost of armaments (guns, warships, and rockets)?
((A)-The amount of food and clothing given up to produce a given quantity of armaments
(B) The cost of armaments purchased for the national defense.

(C) The dollar amount of money that Congress appropriates for purchasing armaments.
(D) None of the above.

5. Implicitly, President Eisenhower recommended that there be greater
(A) expenditure on armaments relative to clothing and on food relative to armaments.
(B) expenditure on clothing and on food relative to armaments

(C) development of labor, genius, and hopes to make more armaments, food, and
clothing possible.

(D) expenditure of money for all of society’s needs.



6. Graph the PPF described above, being sure to clearly label both axes, and indicate an efficient
™  level of spending on armaments and consumer goods (that is, food and clothing). Use a bracket
to show the opportunity cost of an increase in the production of consumer goods.
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Teams

First, make certain that all team members understand “The Dreaded Disease.”
Then answer the questions below. Have a spokesperson ready to explain your
team’s decision.

The Dreaded Digease

Imagine an island economy that is periodically struck by an epidemic disease
that affects only children. From past experience the islanders found that the disease
strikes randomly, affecting 80% of all children. They also discovered a preventive
antidote that reduces the chance of death if it is taken before the disease strikes.

A child who has taken no doses of the antidote has a 90% chance of dying
when he or she contracts the disease. With one dose of the antidote, the chance of
death is reduced to 10%. Two doses reduce the chance to 8%; three doses reduce
the chance to 6%; four doses reduce the chance to 5%. Beyond four doses, the
antidote has no further effect, and the chance of death remains at 5%.

Suppose the island has 1000 children and that at the first sign of a new out-
break of the dreaded disease, the people have produced 1000 doses. The antidote
must be used immediately if the children’s lives are to be saved.

Questions:

" 1. What would be a “market” solution to the problem?

¢pll ar d

¥

a. What would be the benefits of this solution?

ofor families with children? ofor families without children? b / O
f . . l’ Vidi /9 4 / ll
[»for pharmaceutical companies? efor the economy? - A Hek
! ¢ . i . :
lﬂ' b f I / I ) = l ( .
b, What would be the opportunity cost of this solution? |
: ) I |
(W ba 0n W istrenTiono ‘ Ot
-_— 1 1 p ] : . :
)Oor |/ ) Lf f‘j 1] bl -‘" ,r + rl 1Y J l.r17¢ l-,
2. What wou_ld{be a ”co(-m;h:iahd” solution to thi§ problem? « - [¢55 WPty (7
rd j l; ‘-7,/ ’i'ﬁ( ‘\\
Gov  <cets  distevt Y o
a. What would be the benefits of a command sflution?
V< ’ ) R
b. What would be the opportunity costs?
+ continued : LIVE /1
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3. Which solution would your team choose? Why?

I\ . i

A

rMedic:al care in the U.S.
Teams

Pass this sheet of paper around your team. Each team member writes down one -
idea, then passes it on.

Examples of market allocation of medical care in the U.S. today:

Examples of non-market allocation of medical care in the U.S. today:

Poll your teammates on the following question: Do you think medical care should
be treated as a product—such as clothing or food--or a ‘right’ for everyone?

Economics
LIVE/ 2

© Keenan & Maier
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STRATEGY FOR GRAPHING DEMAND-SUPPLY #3:
Shifting the Demand Curve: “Pay the Piper”

UNDERSTANDING THE IDEA: i

Remember the story The Pied Piper of Hamlin? In this classic story for children the towns-
people promised to pay the piper for ridding their town of rats. When they reneged on their promise,
he used his magical powers to lure their children away, thus teaching the lesson that people must be
careful to keep their obligations or pay the consequences.

In economics, we must be careful to think logically or risk misunderstanding what we observe.
You have learned that only five factors can shift the demand curve. Recall from the text and from

class that the five “shifters” are:

Population
Income
Preferences
Expectations
Related goods

“Pay the PIPER” will help you remember that when on of these determinants of demand
changes, the demand curve shifts - a shift to the left decreases demand and a shift to the right in-
creases demand! If we observe a change in price and one of these five shifters of demand is not
involved, then we conclude that the quantity demanded has changed - we have moved along the
established curve - rather than think that the demand curve has shifted.

TASKS FOR TODAY:
|. Determine whether a headline means that demand has decreased (shifted left = SL), has not

changed (NC), or has increased (shifted right = SR). Read the following headlines and circle the
appropriate abbreviation. One headline represents no change in demand.

1. “Orange Juice Reported To Reduce Risk of Stroke” SL NC SR

2. “Breakthrough In Manufacture of OJ Reduces Its Cost of Production”  SL \EJC SR

3. “Tomato Juice On Sale for Half Price” SL NC SR
< 4. “Stock Market Boom Means Americans Have More Money To Spend” S_L NC éR
B “Drought‘_E_?Ep‘ected To Reduce The Orange Crop in Flcjr'i‘d{‘a"’ = SL NC -(s_R
6. “Rate Of Popul;tion Growth Increasing” ' SL NC\SR
e VIR

/ 4 )
Page 10f3 2 = ° ;
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i
¢ |I. Now illustrate the effect of these developments on price and quantity on graphs 1 through 6. The
1, TOPIC for these graphs is “The Market for Oranges.”

P.. Now try again on graphs 7 through 12. The TOPIC for graphs 7 through 12 is “The Market for
Gasoline.” Again, for one graph there will be no change in demand. First circle the appropriate answer
for the likely change: demand has decreased (shifted left = SL), has not changed (NC), or has in-
creased (shifted right = SR). The headlines are:

7. “Midwestern Refinery Explodes” !; 1 Cav % ; . J,‘/ sl | | \:} - NC \j ‘ ~
8. “Recession Means A Decline In National Income” £ SL NC SR b
9. “Survey Shows More People Staying Home This Summer” /SL NC SR

10. *Price Of Cars Rising” | SL NC SR _—
11 fpes Shortege Expected To/Gontialie FRIUghayt SCMmsr SU NG LSR |
12. "More Teenagers Driving Than Ever Befc;re)]‘ J ¥ SL NC SR A

cireag ! WeAA ~ . [l
\ |\“, ’“'I{- (':‘ JQ‘.J l’;[;(

GRAPHING A SHIFT IN THE DEMAND CURVE:

-_-—
1. Identify the shifter involved: which element of PIPER applies?
2. Has demand increased (Shifted Right) or decreased (Shifted Left)?
3. Graph the old and new demand curves and label the consequent changes in price and
quantity
Price
Supply
Panl * N
Pe["""""""°
]
I
]
]
|
O__,t : Demand 2
/f—h-‘l‘::—»(/\:,_ ) I Demand
—1 1 QeQe2  Quantity
~

Remember: Pay the PIPER!

Page 2 of 37~
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STRATEGY FOR GRAPHING DEMAND-SUPPLY #4:
Shifting the Supply Curve: “Tent Rip”

UNDERSTANDING THE IDEA:

Imagine you are on a camping trip. You have travelled far from civilization and have carefully _
planned for everything. Sure the mosquitoes are biting and it is starting to rain, but you are safe and
cozy in your trusty old tent. What could go wrong? RIPPPP! A big tear appears in the side panel - rain
starts to drizzle in and you soon hear the buzz of hungry mosquitoes. Your tent was older than it was
trusty. A tent rip threatens to ruin your entire trip.

Recalling this story and the phrase “TENT RIP” will help you recall the six factors that can shift
the supply curve. From the text and from class discussion you know that the six “shifters” of the
supply curve are:

Technology .
Expectations (|7«
Number of Sellers
Taxes and Subsidies
Regulations set by government
Input Prices

('\ \_L ¢

A change in any of these will shift the supply curve. These are the determinants of supply - a
shift to the left decreases supply, and a shift to the right increases supply! If we observe a change in
price and one of these six shifters is not involved, then we conclude that the quantity supplied has
changed - we have moved along the established curve - rather than think the supply curve has
shifted.

i |,/ F 5, P 4<
TASKS FOR TODAY: [ 1% | SR AR
|. Determine whether a headline means that supply has decreased (shifted left = SL), has not
changed (NC), or has increased (shifted right = SR). Read the following headlines and circle the
appropriate abbreviation. One headline represents no change in supply.

13. “New Machine Increases Productivity of Orange Pickers” SL NC ,_E{Ié
14. “Oranges Found to Counter Mad Cow Disease” (N , , Cm t SL .\ﬁ,@ SR
15. “Texas Farmers Plant Orange Groves” SL NC i'\.S_Rq
16. “Georgia Offers Cash Payments for Planting Orange Trees” SL NC SR

17. “Feds Strengthen Regulatlons on Interstate Shlpment of Oranges” SL NC SR

J" ”>

18. “Migrant Orange P|ckers Stnke for Higher Wages SL NC SR
FaoR  Wrice Page 1 of 2



[I. Now illustrate the effect of these developments on price and quantity on your graphs 13 - 18. The

TOPIC for these graphs is “The Market for Oranges.”

£
.l. Now try again on graphs 19 through 24. The TOPIC for graphs 19 through 24 is “The Market for

Gasoline.” Again, for one graph there will be no change in demand. First circle the appropriate answer
for the likely change: supply has decreased (shifted left = SL), has not changed (NC), or has in-

creased (shifted right = SR). The headlines are:

19. “EPA Requires Additives for Gas to Reduce Pollution”
20. “Taxes on Gas Raised to Fund Highway Maintenance Projects”
21. “Boom in Economy Increases Travel Plans for Summer”

22. “New Refining Technique Promises to Speed Up Production of Gas”

23. “Fear of Domestic Terrorism Will Probably Reduce Travel This Summer” |

24. “Price of Crude Oil Falls as North Slope in Alaska Begins to Produce Oil”

'GRAPHING A SHIFT IN THE SUPPLY CURVE: Ao

“

2. Has supply increased (Shifted Right) or decreased (Shifted Left)? |

1. Identify the shifter involved: which element of TENT RIP applies? - };\ "‘

(SL.
'sL

SL

SL
SL

SL

NC SR

NC SR

3. Graph the old and new supply curves and label the consequent changes in price and

quantity

Remember: TENT RIP!

Price

Supply
Supply2
Pe mrrmemmm=-
PE2LBl. ... o
a E i Demand
13: Qe Qe2 Quantity
TOPIC:

Page 2 of 2
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Keys to victory on Super Tﬁesda]y

White women appeared to overwhelmingly support Clinton

Black voters favored Obama, as did younger voters ' =
Evangelicals favored Huckabee; McCain did well among seniors

Economy a winning issue for McCain; Romney scored with immigration issue

Story Highlights }

he CNN Political Unit took a look at what dynamics could play significant roles in victory -- or defeat -- for the various candidates as they slug it out on Super Tuesday. Here's how those
ssues were playing out in early voting on Tuesday, based on early exit polls of voters in states with Democratic or GOP primaries where polls have already closed.

CNN) -- For Democrats, these reflect voter samples in Alabama, Arizona, California, Connecticut, Delaware, Georgia, lllinois, Massachusetts, Missouri, New Jersey, New Mexico, New
‘ork, Oklahoma, Tennessee and Utah.

Jverall, the surveys interviewed 16,290 voters.

‘or Republicans, they reflect voter samples in Alabama, Connecticut, Georgia, lllinois, Massachusetts, Missouri, New Jersey, Oklahoma, Tennessee, New York, Arkansas, California,
Jtah and Arizona.

‘hey will be updated throughout the night with additional surveys from across the country as polls close in other states.

SSUES FOR THE DEMOCRATS:

low did the overall female vote play out?

 majority of women (52 percent) threw their support to Sen. Hillary Clinton of New York, versus 45 percent for Sen. Barack Obama of lllinois.

2/6/2008 9:05 AM



ctory on Super Tues 'y - CNN.com ht ‘;nn.site.printthis.clickabilily.com/pl/cpl?ac[ion=cpl&u’[lu=Kcys+1o-+-vjc1(, %n*'Super*Tuc_,_

\mong men, the trend was reversed, with 42 percent of men backing Clinton and 53 percent of them backing Obama.

‘he former first lady was spurned by women only in lllinois, where she got just 33 percent, and New Mexico, where she was being edged out by Obama 43 percent to his 47 percent,
ccording to the exit polls.— = Walch analysts evaluate the Democratic candidates »

low did African-Americans vote?

llack voters of either gender went overwhelmingly to the Obama camp. In all, 86 percent of black men and 79 percent of black women voted for Obama.
linois again was a big win for Obama, with 95 percent of African-Americans voting for him. The state sent him to the Senate in 2004.

low did the Latino vote go?

Jlinton drew more Latino votes, especially among Latina women, nearly two-thirds (65 percent) of whom said they voted for her.

jut Obama's home-field advantage appeared to have helped him in lllinois, where he was leading Clinton 52 to 46 percent among Latinos.

low did white voters vote?

Vhite Democratic men did not appear unified on how they voted Tuesday. In Connecticut, they favored Obama over Clinton by 54 to 40 percent. Those numbers were nearly reversed in
‘ennessee, where Clinton was ahead of Obama among white men by 59 percent to 29 percent.

yverall, white men were favoring Obama 49 percent, to 44 percent for Clinton.

jut white women appeared to strongly support the white female candidate. In all, 58 percent of white women said they had voted for Clinton, versus 38 percent who said they had voted
or Obama.

1 all of the primary states except for New Mexico and lllinois, more than half of white women said they had voted for the former first lady.

\nd in all cases except New Mexico, where white men and white women were equally supportive of Clinton (39 percent for both), white women favored Clinton in greater numbers than
id their white male counterparts.

1 some cases, the difference was striking: In Massachusetts, nearly two-thirds of white women said they had voted for Clinton, versus fewer than half (48 percent) of white men.
5 Obama still dominant among young voters?

¢

es.

\mong the youngest voters, 59 percent said they had voted for the 46-year-old senator from lllinois, versus 38 percent who had gone for his 60-year-old New York counterpart.

Jbama was outpolling the youngest voters in some states by more than 2-to-1 and in all states by a solid majority. That was not the case among those voters of retirement age. In nearly
Il states, Clinton was riding a sizable lead with that group. The glaring exception was lllinois, home to Obama, where seniors said they favored him by 57 percent, versus 40 percent for
Jlinton.

lealth care, Irag and the economy: Still the same?

1 general, voters who felt the war in Iraq was the biggest issue affecting the country were more likely to have voted for Obama (55 percent) than for Clinton (40 percent).
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'oters who felt the economy was most important were about evenly split between Obama (46 percent) and Clinton (50 percent).

«nd voters who thought health care was the biggest issue were more likely to vote for Clinton (52 percent) than Obama (43 percent).

Vhich candidate's key quality was more important?

‘he buzzword in recent weeks has been change, and voters continued to cite it Tuesday as something Obama could effect.

ymong those who said one of the candidates could bring about change, more than two-thirds (68 percent) said it was Obama. Fewer than a third (29 percent) cited Clinton.

jut the two-term senator from New York surpassed the one-term senator from lllinois when voters were asked about experience, with 91 percent of voters saying she "has the right
xperience," versus just 5 percent who said the same thing about Obama. - See the qualities that voters were seeking »

SSUES FOR THE REPUBLICANS:
low did the evangelical, or born-again, vote play out?
1 most states, former Arkansas Gov. Mike Huckabee, who is also a former pastor, won the broad support of voters who described themselves as born-again or evangelical Christians.

lowever, in lllinois, 41 percent of these voters chose Sen. John McCain, and in Massachusetts, 60 percent of these voters chose their former governor, Mitt Romney. In Arizona, 45
«ercent of evangelical voters chose McCain, with only 15 percent voting for Huckabee. Thirty-two percent voted for Romney there.

1 lllinois and Massachusetts, Huckabee garnered one-quarter and 17 percent of the evangelical vote.

lis support among these voters seemed to peak in Alabama, where he won nearly half the vote -- 45 percent. He did poorly among them in Utah and California, winning only 12 and 6
ercent, while Romney picked up 83 percent in Utah and McCain won among them in California, with 38 percent.

‘here was not enough data on born-again voters in Connecticut to tell who they had voted for. In New York, where evangelicals were only 20 percent of voters, they narrowly chose
AcCain over Romney, 32 to 31 percent.

low did the senior vote play out?

icCain, 71, fared especially well among the senior age group in the states whose polls closed at 8 p.m. or earlier, winning them by wide margins in all but two states. In Massachusetts,
AcCain and Romney both won the support of 45 percent of seniors, and in Missouri, Romney won the support of that 65-and-older age group, with 43 percent of them, edging out
AcCain's 30 percent.

1cCain's support among seniors appeared broadest in lllinois, where he won 54 percent of them, with Romney coming in second, with 31 percent.

1 Arkansas, Huckabee won more than half of the senior vote, winning broadly over McCain, who had 27 percent.

lowever, in Utah, Romney won a landslide among senior voters, winning 92 percent of them.

Vhat was more important: personal qualities or issues?

‘oters who named personal qualities as more important than issues most often chose McCain, although they chose Romney in his home state.

‘or voters who named issues as more important than personal qualities, Huckabee did well in the South -- winning Alabama, Georgia, Tennessee and Oklahoma.
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lomney and McCain divided the votes of issue voters in other regions -- with Romney winning them in Massachusetts, Missouri and New Jersey, while McCain won them in Connecticut
nd lllinois.

1 his home state of Arkansas, Huckabee did best among both sets of voters == winning with 57 percent to McCain's 17 among issues voters, and 55 percent to McCain's 29 percent
mong personal quality voters there.

ind in Utah, Romney scored well with issues and personal quality voters, winning 86 and 94 percent of them.

low did anti-Bush Republicans vote? Did McCain get the Republican "change vote"?

‘oters who said they had a "negative opinion" of President Bush's administration flocked to McCain, who picked them up by wide margins in most states.
1 California, McCain's margin was slimmer, winning 40 percent to 33 over Romney.

1 Alabama, Tennessee and Arkansas, McCain lost these voters to Huckabee. The former Arkansas governor narrowly edged McCain among those voters in Alabama and in
‘ennessee, beating him 35 to 31 percent in Alabama and 32 to 28 percent in Tennessee. However, in Arkansas, Huckabee beat McCain handily among these voters, 55 to 25 percent.

1 Massachusetts, Romney won more than half of those voters, and McCain came in second there, with 35 percent. In Utah, Romney was far and away the frontrunner for these voters,
nd won 83 percent of them.

low did conservatives vote?

‘oters who described themselves as "conservative” chose Huckabee in the Southern states of Alabama, Georgia and Tennessee, although Huckabee only narrowly edged Romney with
onservative voters in Georgia, 38 to 37 percent. Huckabee won these voters in Oklahoma, beating out Romney 35 percent to the former Massachusetts governor's 28 percent.

lortheastern and Midwestern “conservative" voters seemed divided between Romney and McCain, who has come under attack from Romney and Huckabee on his conservative
redentials.

AcCain won these voters in lllinois and squeaked by Romney with these voters in Connecticut, while Romney had broad support from them -- 73 percent -- in his home state of
Aassachusetts. They also chose Romney in Missouri and in Arizona, polls showed. McCain won only 36 percent of conservative voters in his home state, compared with Romney's 47
ercent.

1 New York, Romney edged out McCain 41 to 39 percent among these voters, and in Utah, he beat all other candidates handily among them -- garnering an impressive 93 percent.

1 California, conservatives also chose Romney over McCain, 46 to 30 percent.

‘or those concerned about the economy as the top issue, how did they vote? Immigration?

‘oters who named the economy as their top issue showed their support for McCain in most states, a blow to Romney, who touted that issue often in his campaign. Romney won among
10se voters in Massachusetts, while Huckabee won them in Alabama.

\mong voters who named immigration as their top issue, Romney did well -- picking up support from these voters in Georgia, Connecticut, lllinois, Massachusetts, Missouri Arizona, New
‘ork, California and New Jersey.

luckabee won them in Alabama and Oklahoma. He also handily won among both sets of voters in Arkansas, and Romney also easily won among both sets in Utah.

lot surprisingly, voters mostly concerned about immigration did not choose McCain, who came under fire for the McCain-Kennedy bill on immigration, which some condemned as
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amnesty." However, Arkansas voters who named immigration as their top issue chose McCain over Romney, and in Arizona and New York, they chose McCain over Huckabee.

Vhich way did the Latino vote go?

Jthough information was scant for most states, in Arizona and California, where data was available, McCain had the edge. He won handily in Arizona with 62 percent, while Romney
arnered 31 percent. In California, McCain won with a third of the Latino vote, over Romney's 25 percent and Huckabee's 23 percent.

‘ind this article at:
ttp://www.cnn.com/2008/POLITICS/02/05/super.issues/index.html

£ Click to Print SAVE THIS | EMAIL THIS | Close

__| Check the box to include the list of links referenced in the article.

) 2008 Cable News Network
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DEMAND AND SUPPLY

CHAPTER 3 ; 57

ECONOMIC RESEARCH AND ANALYSIS
BY STUDENTS FOR PROFESSIONALS

Mort’s Ostrich Farm produces high-protein, low-fat
ostrich meat for restaurants and consumers. Mort’s
currently supplies a small number of customers,
but the firm believes it can increase the quantity it
produces and the price it charges with strategies to
increase the demand for ostrich meat.

Mort’s has approached Economic Consultants
for advice on how to increase the demand. Prepare
a report for Mort’s that addresses the following
issues:

1. What strategies can Mort’s implement to
increase the demand for ostrich meat?

2. Explain to Mort’s the difference between
changing the demand for ostrich meat versus
changing the quantity demanded. Explain
what strategies will cause a change in demand
versus a change in the quantity demanded.

You may find
the following
resources helpful
as you prepare this
report for Mort’s:

e Ostrich Cen-
tral (htep://www.
connect.net/
ratites/), Ostriches
On Line (http://
www.achiever.com/
ostrich/index.
hunl), and Warren
Ostrich Foods
(htep://www.
warrenfoods. |
com/)—These ?
suppliers of ostrich

meat offer distrib-

ution across the United States.

°  The Clio Awards (http://www.clioawards.
com/index.html)—The Clio Awards highlight
the best advertising campaigns in print, radio,
and television.

i WHY CAN'T THEY BE
i SATISFIED WITH GOOD

OLD HAMBURGERS?
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In order to increase demand for ostriches, Mort should expand its horizons beyond meat.
Mort could sell and market the other useful parts of ostriches, for example: The feathers,
which are decorative, could be sold for clothing and are also used for feather dusters. Its
skin is used for could be used for leather if prices for cows rise.

It should try to influence fashion to make ostrich feathers more fashionable, thus increase
the demand for them.

The leather is the strongest commercially available leather.

It should try to market the meat as healthy food in natural-food stores such as Whole Foods
and Trader Joe's. It could launch a public awareness campaign to inform the public about
the benefits of Ostrich meat. It could also optimize the product packaging to inform
consumers about the benefits of ostrich meat. Ostrich meat tastes similar to lean beef and
is low in fat and cholesterol, as well as high in calcium, protein and iron.

It could convince growers of its lower feed to w#ght gain ratio of 4:1 not 10:1 for beef
cattle. This could increase profit margins over raising cattle.

_____ Lvé‘;g}?}'

Change in demand is when the demand curve shifts as a result of a change in one of the
detriments of demand. These are:

e Consumer's taste and preferences

e Number of consmers in the market

e Consumer's incomes

e Price of related goods

e Consumer expectations of future prices
Change in quantity demanded is when the price changes and the amount which is
demanded changes. The curve does not shift, only the position along the curve.
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TEAL EVERYTHIN
- Top Ten Reasons Not To Pay

—_

. It's the American way. (You're standing c¢n stolen land.)
2. Chain stores ruin small businesses. Big chains put more
power in fewer people’s hands. Theft makes these
businesses less profitable and gives small business a
chance.
3. Taking things without paying doesn’t drive the cost up.
' Store owners already charge as much as the market will
bear. That’s how capitalism works.
It’s like boycotting, except you don’t have to do without.
. Why should you do without just because you were born
without? :
6. If you don’t pay, you won't need to work at jobs that suck,
and you can do something meaningful with your time.
7. You could put that stuff to use. (Instead of letting it rot on
the shelf.)
They charge too much.
9. Making capitalist ventures less profitable encourages
people to do things more meaningful than selling junk to
people who don’t need it.

10. Sharing is good. Teach capitalists the value of
sharing.

o

o

DON’T PAY.
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Figure 6. Pressures on the government wage bill

A. Government employment as a percentage of total employment:

International comparison
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B. Real wage growth in the private and public sectors
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Source: OECD.
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l some pieces of scrap paper.
I Step l ("‘ :j._:.i {". ; 1O~
Time your partner for 30 Person Person
; seconds, counting how — 1 : _ 2
many pages he or she can
turn one at a2 time using
one hand. # of page turns oF ({) A 7
e A
Step 2 # of paper folds o L‘[ (J
Time your partner to see ) Vv
how many folds he or she
can make in a piece of
paper in 30 seconds using p :‘V\. e
i i 2 2 AL ) °
one hand. (Unfolding the paper after each fold.) i tlve
Compare your results with your partner, / [2 advan‘t"
1 9 L] X ‘
Who has an absolute advantage in page turning? I ] = *j_{ J age ln
; )] <n ' ‘ (L’ ¢ ki
In paper folding? Vlal ‘ . _Paper_ \.
- b
| Who has a comparative advantage in page turning? p/U i 7
Explain: - fOldng
; . . \hig- [ 4 ul
Who has a comparative advantage in paper folding? _\ U i / A
) Explam l'l‘ : / {f; l
\ (39/49
~J | =
Step 4 ‘ i
1.In the theory of mternat]onal trade, absolute advantage means? - . 1””.%
}l’p (d v l{/ - iﬂ"’ (e ,'i g T4 i £ 51 ol ( 410 t'—l :
i A ’ l l"" ) ! i/
. * In the theory of international trade, comparative advantage means? { _ ' Chs)s
{‘_’ . () 1Y f a A v ( \ adra £, @} Y
2. Describe a situation in which the principle of comparative advantage is used to’ _
determine which person will do which task. Your example may come from a ) /) ¢ | ) ‘
P workplace, a sport or your household. o "
.‘". f MO ' " 3 0O F ile f hiF
log MY i ad g s J | :
o Lo / !w Y Jl\’? \".:f - A (Cqn k ar e  (Gd "W I-Ej'cono;rncg
' - | | IVE / 107
© Keenan & Maier ' = ;,; 1 i i i { €1 {/
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Teams

Form teams of two. For this exercise you need a2 watch or clock, any book and
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Your group will be assigned one good or service. Your goal is to estimate the price
elasticity of demand for it.

Va

|
13

o @i o K7 i e 7, I 7 y -

_Write out the formula for elasticity of demand

\ ( 3= LJ

L' / l- ; 7 41 | ‘A &
YiNe e /[
S 7)o .F 7 - I
Az A L f f' )i f
sepz | % AP > /U

In your own group, find out what is the lughest price at which only one person will
buy this product? a9
'Y i 3

(Write down P1 = S Qdl=__1_) d 2
— P30
Lower the price so that at least one more person in your group will buy this prod-
uct. )0
982 o 7
(Write down P2 = Qd2=_L ) G 97

Step 3

Given these two prices, survey students in one other group as to their willingness
to buy. Total the quantity demanded at these prices, including your group as well
as the other students you surveyed

;2 Qd1 = p2=U )" Qd2=_C

Step 4

1. Now calculate the price elasticity of demand.
7 i ) I /-) '? P
. [ 37)-

& L
/.3 3 AL /{‘ rf /
2. Is demand in tl'us éase elastic .Or inelastic?

ﬁf/" & ]

w § "1 ']
(SR A/EVE NN

3. What factors n’ught explain why it is elastic or inelastic?
}} 1" ] ‘f J (¥ L "'l '; i VEd (
{ U rv

{/ A /
W, / 7

4. How does it compare with other elasticities listed in your textbook?
L L owery LAl )
b | /l/", h (‘1 : { : ,

> o r(-: 3
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Choose a spokesperson for your team. Brainstorm the answers to the following
questions together. Make sure your spokesperson is ready to defend your answers.

o P — sz —

1. Economists estimate that the }:;}ice elasticity of r
demand for heroin is 0.4. What does that mean? /
Show the demand for heroin graphically. . 7 \ !

Q
2. Efforts to limit the supply of heroin has had little P /
impact on the quantity demanded for heroin. Why? | \ 2 d
Show graphically. ' 00 \ /¢

U 7112:)% and the
3O TPubavg (i ) . = /’ﬁ \-\l” demand
Tlost for

3. Doubling federal law enforcement efforts to block heroin imports is estimated to
raise its price by 13%. By how much would sales fall? (Use the formula for elastic- dl ng S
ity in your textbook.) :

4. If the price of heroin rises, given its inelastic demand, what happens to the
incomes of heroin dealers?

- \ [ » ] / v
4 5~ petvf VL T ) _5”{" (00 S

.. 2
" : . . — () | :
5. The price elasticity of demand for marijuana is estimated to be 1.5. What does /7))y / 0N s
that mean? Why is demand for marijuana more price elastic than heroin? \r U,
¥ o , Lo s v, Wese)
Por L s
\ 1 [ ¥ 1
'é ‘ J :51 / ‘\
Sy 5, €0)0. 4 |
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7. Efforts to raise the 1e price of drugs to c‘hscourage use would be most effective
against heroin c(man]uana'P -

R
N7 7
@94 \i‘.
V% [ J
!{.;“- A v
%_“ '/_m_‘? 8. Brainstorm a list of all possible methods to reduce drug use in the U.S.
‘ 4 Methods to Reduce Demand Methods to Restrict Supply
[ AP, WA L0 (X d WM. ' oY VP pergec (earily
) / ' N 7 i P
i | g 15 ( Y ’ L%
( \/ |'/\‘ C i ' f
¢ J “.‘! >
| 7
In your team’s opinion, which approach would be most effective? Why?
IA! {
\ 1 _* J I“", v
|, | |
| Olso teyiq To p Ly
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AP Microeconomics Last Names of Partners:
Date:

Economics Consultants—Research and Analysis Problems
DIRECTIONS: Choose a partner and together complete the two prob]‘ei'hs' below.

Problem 1:

Pharmaceuticals, Inc. has developed Aspirenow, a new type of pain reliever.
Aspirenow relieves pain longer than regular aspirin, and the drug does not cause stomach
upset. Pharmaceutical has been given permission to sell the drug without a prescription.

Before Pharmaceuticals introduces Aspirenow to the market, the creators have
approached our firm of economists to consider the economic implications of offering a
new drug. Prepare a report for Pharmaceuticals that addresses the following issues:

1. How elastic is the demand for over-the-counter pain relievers?
” 2. What are the competitors for Aspirenow? In relation to these competitors, what
pricing strategy should Pharmaceuticals implement?

3. What issues regarding cross elasticities does Pharmaceuticals need to
consider?

You may find the following resources helpful as you prepare this report for
Pharmaceuticals:

www.tylenol.com -- This site provides product information on Tylenol and
advertising.

www.phrma.org — PhRRMA represents about 100 U.S. companies committed to
pharmaceutical research. Information includes drugs in
development and industry statistics. \ !
"y C _
www.fda.gov — The FDA is the federal government’s consumer protection agency
for food and drugs. e



™S

Problem 2:

Recently, a group of scientists have developed a method for producing nearly
flawless diamonds from coal at a very low cost. These artificial diamonds are
indistinguishable form/real diamonds to the naked eye. A few of the scientists have
formed the Diamond Institute to explore strategies to profit form this process.

The Diamond Institute has approached our firm of economists for advice about
how to best profit from this new procedure. Prepare a report for the Diamond Institute
that addresses the following issues:

1. What issues regarding the law of demand and the marginal-utility-to price ratio
does the Diamond Institute need to consider?

2. What issues regarding consumer sg'p]us doe the Diamond Institute need to

b ; ] ) ;

. s b i A0 \ - ) A o/ €

COI’lSlder? N\ ¢ /j !/ /_,x J 14 ;-)J, / 7 ,‘,’ [/ / ! (
e, SR ! L i

| SN [ S——

You may find the following resources helpful as you prepare this report for the
Diamond Institute:

www.debeers.com — De Beers, which controlled about 80% of the world diamond
market for about a century, offers tips and guidelines for
purchasing diamonds.

www.rostar.cony/ -- Rostar manufactures and sells simulated diamonds.
www.israelidiamond.co.il/ -- The official Israel diamond industry portal

introduces rough and polished diamond dealers and
suppliers.
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Teams

Organize into groups of three. Number off “1,” “2” and “3.” Imagine that you are
just starting college and you must decide what kind of typewriter to buy (your
choice: manual or electronic typewriter or a computer).

Percon 1

You have purchased a manual typewriter for $100. It costs you $3 per page to hire a
typist to use this machine.

Calculate your costs:

# of FC VC TC ATC
Pages (machina) (labor) ($) (S per
page)
. Graph the ATC:
| A O | £ Sl \
% 100 ) 10 SYEP I
0 )00 190 ( J |
100 )np 300 1
50 |0n 1§00 0 J A\
1000 ' ) ) / 'lJli’)\:n‘-j :. ,f’Lﬁ(J i"‘ } U \
2000 LO() ( 000 (f / [ O Q /})\(J 5 ;: Q 1 * \\
—~e
Pergon 2
You have purchased the electronic typewriter for $200. It s | l I l
costs you $1.50 per page to hire a typist to use this machine. 100 500 1000 2000
# # of Pages
Graph the ATC:
# of FC vC TC ATC O |
Pages (machine) (labor) ($) (S per )
page)
3 20 Yc< £ | g
0 260 7% 7 |
100 7260 ¢ 466 3.4 B4
500 /0 750 | F ; ] =
1000 200 1500 1760 b
L/ 07 _
2000 s 3000 00 . ( ' ,1_
100 500 1000 20 ]
. 00
aapagsd # of Pages
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Person 3
You have purchased a computer for $1000. It costs you $.50 per page to hire a typist
P to use this machine.
Graph the ATC:
# of FC vC TC ATC U 4
page)
‘ - A
30 ? / ‘) :”1 ‘T' \ i‘ \ | L i \r
50 000 _Z5 96 |
.,Vh. - P‘A_J
1000 00D _$0 < |
500 100 0 280 _ 1
1000, ) O 30 D ), §
2000 YO0 loo¢ )
d = - \ y ¥ P T—
il [ T | I T
100 500 1000 2000
# of Pages

When you complete your table and graph, rejoin the group. As a group answer the
following:

1. Complete Pages Which Machine is Average Total Cost (ATC)
this table: Least Expensive

50 ¢

100

500 7 f_

1000

2000 )

2. Now add the two other ATC curves to your own. In a different color, identify
the long-run ATC curve, assuming that inputs (machines) can be changed.

3. How is the LRATC curve different from your individual ATC curve? .
-, J i\ ¥ "~ /] 1 ’ 7
7 I

4. In this case, were there economies of scale or diseconomies of scale? Explain.

—~
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* Hertz Corporation Study
-~ Los Angeles Times, January 23, 1984

For only the second time in histbry, driven 10,000 miles a year for five
the per-mile cost of owning and operating ~ years.

a typical new compact car dropped in 1983 The figure included fixed costs
by 1.4 cents to 43.28 cents, an annual Hertz comprised of depreciation, 13.71 cents;
Corp. study showed Sunday. insurance and license fees, 9.98 cents

The 43.28 cents per mile driving cost ~ and interest, 7.66 cents. Variable costs
was calculated based on a compactdomes-  included maintenance and repairs, 3.55

tic sedan, such as the Ford Fairmont, cents and gasoline, 8.38 cents.

Teams
As a team calculate the following: uf
514 Cost
1. What are AFC for 10,000 mlles? i Now calculate total fixed costs O
(AFC x 10,000) = J127 )7 'y 099+ 7 [ 26
|51 / A—J]f\)'/ Of
2. Compute and fill in the missing values:

Q of Miles AFC AVC ATC JC MC .
~Y gt oy 1) WG .
5,000 ( 11.93¢ / MJ b o/ WS V(R : AT g

¢l A I LU s >~ C
DY ‘ —
- o000 ), 3 s 11.93¢ c3¢ Vs ;.5 a ear
q. / a798, { 9y L=
15,000 v 11.93¢ 3208 § AHAS
Assume that the average variable costs \f/, ) 0
of running the car (gas, oil etc.) stay ATC / AEC AN
constant from 5,000 to 15,000 miles. P i X i
{_ D l) { \\ \_\‘\v"y
3. Show ATC and AFC graphically. h G \< S A I
/j JLet’s say you drive this car 10,000 miles. If , \ L
boss offers you a job driving at a reimburse- gl (’ N 1
N7 ment of 20 cents per mile, would you do it? Why '
or why not? »
L1 id e [ L) g L6 thfMHes
! Svre (001 1) .
| = ‘ P V7, 2 N J / 1: /
}}' ) Tules !a, lL y v > I:: "y’/ /((f (Jp,/ 1709
HQ (4%?(‘ cosls are dlread; e er = v . por mil
/5. Would ATC eventually 1—15427 \Nhy or why not? o . | > v Fie
Yx), - el ] Or i ol t e i,‘ v 'I‘;'.“"_ r 0 poA | ""\'/. <0
5 t_]] r L ) / .
mat
. J/At what pomt do you thmk Hertz WLU sell this Ford Fau‘mont7 Why
. : VAR \ (' LIVE / 21
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. ECONOMIC RESEARCH AND ANALYSIS
| BY STUDENTS FOR PROFESSIONALS

Burgermania, a fast-food restaurant corporation,
has grown tremendously over the past few years
and has restaurants in 50 cities in the United States
and Canada. Burgermania, however, recently has
been experiencing growing pains.

| The owners of Burgermania have hired Eco-

| nomic Consultants to suggest how the firm can

| improve its productivity and decrease its costs. In

| particular, Burgermania would like to know how its
primary competitor—McDonald's Corporation—

' has maintained cost efficiency while sustaining
|rapid growth.

| Prepare a report for Burgermania that
jaddresses the following questions:

"~ Approximately how many restaurants does
McDonald's have, and how quickly are new restau-
la.nts being added? Has McDonald’s taken any
stcps to reduce fixed costs associated with these
restaurants?

2. The fast-food industry requires a large

and diverse workforce. How many people does
McDonald’s employ? Has McDonald’s taken any
steps to reduce the cost of labor through initiatives
to (1) increase efficiency, (2) improve quality,
and/or (3) decrease price?

~.  Review any information you can find address-
ing other variable costs, such as equipment, raw
materials, and energy. Has McDonald's taken any
steps to reduce these variable costs?

4. Large restau-
rant corporations
enjoy economies
of scale and face
diseconomies
of scale in their
operations. Has
McDonald's taken
any steps to take
advantage of
cconomies of
scale or minimize
diseconomies
of scale?

You may find
the following
resources helpful

SEE THESE FRIES? WE COOK
UP BILLIONS EACH YEAR.
NOW, THE KEY TO SUCCESS

as you prepare
this report for
Burgermania:

IS TO THINK THAT THIS ONE
ORDER—AND EVERY ORDER—
1S THE ONE AND ONLY.

McDonald’s
Corporation
(‘\:‘I:l' W
medonalds.com/)—McDonald’s provides informa-

tion about its operations and financials. In partic-
ular, McDonald’s maintains its annual report.

*  Hoover’s Online Company Capsules (i1p
re.com /cd_home.hunl)—Hoover's
Online provides for over eleven thousand compa-
nies a description, address, the names of officers,
sales and employment figures, and hyperlinks

to more information, such as financial reports,
stock quotes, Securities and Exchange Commission
filings, and news searches.

«  CNNfn (1 )—CNNfn,
the financial news component of CNN, provides
current news stories on corporations.

www. hoove

w.onnin.com
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Plix

Teamg

Divide your team into 3 groups. Group 1 does Exercise #1, group 2 does #2 and

group 3 does #3.

Exercice 1

The Organize It! notebook company
has the following revenues and costs:

1. What do the abbreviations Q, TR
and TC stand for?

04

2. Define TR and TC:

3 “ . W/
i L '_/ ‘ ‘_"
3. How much are the company’s fixed costs?

/

>

Exercige 2

Calculate total profits at
each level of output. At
what level of output are /,
profits maximized? i

Q TR TC Total Profit
0 so st0 _ /0

1 15 20 =5

2 30 28 7
3 45 38 ] L
4 60 50 O

5 75 65 /()

6 90 85

The Organize It! notebook company
has the following information: Q
i 0
1. What do the abbreviations Q, MR
and MC stand for? 1
G
i 2
% 3
2. Define MR and MC: 4
v I/ : : 5
\ / 6
R./*

MR MC
> 8§15 810
> 15 8
> 15 10
> 15 12
> 15 15
> 15 20

3. Based on the proﬁt-maxinﬁzing rule, at what level of output are profits maxi-

mized?

["ﬂ ( = R /

© Keenan & Maier
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Exercigce 3

The Organize It! notebook company has the following revenues and costs.

Q TR MR IC McC

0 $0 : $10 )
> y >

1 15 20 &7/
> ‘I\ /’I > ‘ \)

2 30 28
> > 'V

3 45 38
> > oL =

4 60 ¢ 50 i e
B —_— > _dsd,

5 75 : 65
> > “ Y

6 90 85

1. What .do the abbreviations TR, MR, TC and MC stand for?

2. Define MR and MC: Lan

3. Calculate MR and MC from the information given and fill in the blanks. v /7

Teame

Come together after your 3 groups have completed their exercises.

1. Share your results. Does everyone agree with your calculation of MR, MC, TC,
TR and profit maximization?

\:f
<
tLi=

2. What are the two ways for finding the profit-maximizing level of output?

A

Economics J A M mark l'.
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Free! Why $0.00 Is the Future of Business

By Chris Anderson  02.25.08 | 12:00 AM

&
gATURE At the age of 40, King Gillette was a frustrated inventor, a bitter
anticapitalist, and a salesman of cork-lined bottle caps. It was 1895, and
: g despite ideas, energy, and wealthy parents, he had little to show for his
i work. He blamed the evils of market competition. Indeed, the previous
o Sl year he had published a book, The Human Drift, which argued that all
How Can Air Travel Be Free?  industry should be taken over by a single corporation owned by the
public and that millions of Americans should live in a giant city called
Metropolis powered by Niagara Falls. His boss at the bottle cap
company, meanwhile, had just one piece of advice: Invent something
How Cana CD Be Free? people use and throw away.

Webmail Windfall

could no longer be sharpened, the idea came to him. What if the blade
How Cana DVE Be Free? could be made of a thin metal strip? Rather than spending time
maintaining the blades, men could simply discard them when they
became dull. A few years of metallurgy experimentation later, the
disposable-blade safety razor was born. But it didn't take off
How Can Directory Assitance  immediately. In its first year, 1903, Gillette sold a total of 51 razors and
Be Free? 168 blades. Over the next two decades, he tried every marketing gimmick
he could think of. He put his own face on the package, making him both
legendary and, some people believed, fictional. He sold millions of
HOW-TO WIKI razors to the Army at a steep discount, hoping the habits soldiers
developed at war would carry over to peacetime. He sold razors in bulk
to banks so they could give them away with new deposits ("shave and
save" campaigns). Razors were bundled with everything from Wrigley's
The March 2008 "issue for gum to packets of coffee, tea, spices, and marshmallows. The freebies
free” offer is now closed. helped to sell those products, but the tactic helped Gillette even more. By

o One day, while he was shaving with a straight razor that was so worn it
a==r=

P

How To Make Money Around Free
Content
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giving away the razors, which were useless by themselves, he was
creating demand for disposable blades. A few billion blades later, this business model is now the foundation of
o entire industries: Give away the cell phone, sell the monthly plan; make the videogame console cheap and sell

expensive games; install fancy coffeemakers in offices at no charge so you can sell managers expensive coffee
sachets.

Chris Anderson discusses "Free."

Video produced by Annaliza Savage and edited by Michael Lennon.

Thanks to Gillette, the idea that you can make money by giving something away is no longer radical. But until
recently, practically everything "free" was really just the result of what economists would call a cross-subsidy:
You'd get one thing free if you bought another, or you'd get a product free only if you paid for a service.

Over the past decade, however, a different sort of free has emerged. The new model is based not on cross-subsidies
— the shifting of costs from one product to another — but on the fact that the cost of products themselves is falling
fast. It's as if the price of steel had dropped so close to zero that King Gillette could give away both razor and blade,
and make his money on something else entirely. (Shaving cream?)

You know this freaky land of free as the Web. A decade and a half into the great online experiment, the last debates
over free versus pay online are ending. In 2007 The New York Times went free; this year, so will much of The Wall
Street Journal. (The remaining fee-based parts, new owner Rupert Murdoch announced, will be "really special ...
and, sorry to tell you, probably more expensive." This calls to mind one version of Stewart Brand's original
aphorism from 1984: "Information wants to be free. Information also wants to be expensive ... That tension will not
go away.")

Scenario 1: Low-cost digital distribution will make the summer blockbuster free. Theaters will make their money
from concessions — and by selling the premium moviegoing experience at a high price.

Once a marketing gimmick, free has emerged as a full-fledged economy. Offering free music proved successful for

Radiohead, Trent Reznor of Nine Inch Nails, and a swarm of other bands on MySpace that grasped the

audience-building merits of zero. The fastest-growing parts of the gaming industry are ad-supported casual games

online and free-to-try massively multiplayer online games. Virtually everything Google does is free to consumers,
o from Gmail to Picasa to GOOG-411.

The rise of "freeconomics" is being driven by the underlying technologies that power the Web. Just as Moore's law
dictates that a unit of processing power halves in price every 18 months, the price of bandwidth and storage is
dropping even faster. Which is to say, the trend lines that determine the cost of doing business online all point the
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same way: to zero.

o Buttell that to the poor CIO who just shelled out six figures to buy another rack of servers. Technology sure doesn't

f feel free when you're buying it by the gross. Yet if you look at it from the other side of the fat pipe, the economics
change. That expensive bank of hard drives (fixed costs) can serve tens of thousands of users (marginal costs). The
Web is all about scale, finding ways to attract the most users for centralized resources, spreading those costs over
larger and larger audiences as the technology gets more and more capable. It's not about the cost of the equipment in
the racks at the data center; it's about what that equipment can do. And every year, like some sort of magic

clockwork, it does more and more for less and less, bringing the marginal costs of technology in the units that we
individuals consume closer to zero.

n, OmniMa 3-0: 5¢%: Superp

gz'g FREE Wwith papcorn purchy

Photo Hustration: Jeff Mermelstein

As much as we complain about how expensive things are getting, we're surrounded by forces that are making them
cheaper. Forty years ago, the principal nutritional problem in America was hunger; now it's obesity, for which we
have the Green Revolution to thank. Forty years ago, charity was dominated by clothing drives for the poor. Now
you can get a T-shirt for less than the price of a cup of coffee, thanks to China and global sourcing. So too for toys,
gadgets, and commodities of every sort. Even cocaine has pretty much never been cheaper (globalization works in
mysterious ways).

@ Digital technology benefits from these dynamics and from something else even more powerful: the 20th-century
shift from Newtonian to quantum machines. We're still just beginning to exploit atomic-scale effects in
revolutionary new materials — semiconductors (processing power), ferromagnetic compounds (storage), and fiber
optics (bandwidth). In the arc of history, all three substances are still new, and we have a lot to learn about them.
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We are just a few decades into the discovery of a new world.

What does this mean for the notion of free? Well, just take one example. Last year, Yahoo announced that Yahoo
Mall, its free webmail service, would provide unlimited storage. Just in case that wasn't totally clear, that's
"unlimited" as in "infinite." So the market price of online storage, at least for email, has now fallen to zero (see
"Webmail Windfall"). And the stunning thing is that nobody was surprised; many had assumed infinite free storage
was already the case.

For good reason: It's now clear that practically everything Web technology touches starts down the path to gratis, at
least as far as we consumers are concerned. Storage now joins bandwidth (YouTube: free) and processing power
(Google: free) in the race to the bottom. Basic economics tells us that in a competitive market, price falls to the
marginal cost. There's never been a more competitive market than the Internet, and every day the marginal cost of
digital information comes closer to nothing.

One of the old jokes from the late-'90s bubble was that there are only two numbers on the Internet: infinity and zero.
The first, at least as it applied to stock market valuations, proved false. But the second is alive and well. The Web
has become the land of the free.

The result is that we now have not one but two trends driving the spread of free business models across the
economy. The first is the extension of King Gillette's cross-subsidy to more and more industries. Technology is
giving companies greater flexibility in how broadly they can define their markets, allowing them more freedom to
give away products or services to one set of customers while selling to another set. Ryanair, for instance, has
disrupted its industry by defining itself more as a full-service travel agency than a seller of airline seats (see "lHow
Can Air Travel Be Free?").

The second trend is simply that anything that touches digital networks quickly feels the effect of falling costs.
There's nothing new about technology's deflationary force, but what is new is the speed at which industries of all
sorts are becoming digital businesses and thus able to exploit those economics. When Google turned advertising into

« asoftware application, a classic services business formerly based on human economics (things get more expensive
each year) switched to software economics (things get cheaper). So, too, for everything from banking to gambling.
The moment a company's primary expenses become things based in silicon, free becomes not just an option but the
inevitable destination.

WASTE AND WASTE AGAIN

Forty years ago, Caltech professor Carver Mead identified the corollary to Moore's law of ever-increasing
computing power. Every 18 months, Mead observed, the price of a transistor would halve. And so it did, going from
tens of dollars in the 1960s to approximately 0.000001 cent today for each of the transistors in Intel's latest
quad-core. This, Mead realized, meant that we should start to "waste" transistors.

Scenario 2: Ads on the subway? That's so 20th century. By sponsoring the whole line and making trips free, the
local merchants association brings grateful commuters to neighborhood shops.

Waste is a dirty word, and that was especially true in the IT world of the 1970s. An entire generation of computer
professionals had been taught that their job was to dole out expensive computer resources sparingly. In the
glass-walled facilities of the mainframe era, these systems operators exercised their power by choosing whose
programs should be allowed to run on the costly computing machines. Their role was to conserve transistors, and
they not only decided what was worthy but also encouraged programmers to make the most economical use of their
computer time. As a result, early developers devoted as much code as possible to running their core algorithms
efficiently and gave little thought to user interface. This was the era of the command line, and the only conceivable
reason someone might have wanted to use a computer at home was to organize recipe files. In fact, the world's first
personal computer, a stylish kitchen appliance offered by Honeywell in 1969, came with integrated counter space.
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Photo Illustration: Jeff Mermelstein
And here was Mead, telling programmers to embrace waste. They scratched their heads — how do you waste
computer power? It took Alan Kay, an engineer working at Xerox's Palo Alto Research Center, to show them.
Rather than conserve transistors for core processing functions, he developed a computer concept — the Dynabook
— that would frivolously deploy silicon to do silly things: draw icons, windows, pointers, and even animations on
the screen. The purpose of this profligate eye candy? Ease of use for regular folks, including children. Kay's work
on the graphical user interface became the inspiration for the Xerox Alto, and then the Apple Macintosh, which
changed the world by opening computing to the rest of us. (We, in turn, found no shortage of things to do with it;
tellingly, organizing recipes was not high on the list.)

Of course, computers were not free then, and they are not free today. But what Mead and Kay understood was that
the transistors in them — the atomic units of computation — would become so numerous that on an individual
basis, they'd be close enough to costless that they might as well be free. That meant software writers, liberated from
worrying about scarce computational resources like memory and CPU cycles, could become more and more
ambitious, focusing on higher-order functions such as user interfaces and new markets such as entertainment. And
that meant software of broader appeal, which brought in more users, who in turn found even more uses for
computers. Thanks to that wasteful throwing of transistors against the wall, the world was changed.

What's interesting is that transistors (or storage, or bandwidth) don't have to be completely free to invoke this effect.
At a certain point, they're cheap enough to be safely disregarded. The Greek philosopher Zeno wrestled with this
concept in a slightly different context. In Zeno's dichotomy paradox, you run toward a wall. As you run, you halve -
the distance to the wall, then halve it again, and so on. But if you continue to subdivide space forever, how can you
ever actually reach the wall? (The answer is that you can't: Once you're within a few nanometers, atomic repulsion
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forces become too strong for you to get any closer.)

In economics, the parallel is this: If the unitary cost of technology ("per megabyte" or "per megabit per second" or
"per thousand floating-point operations per second") is halving every 18 months, when does it come close enough to
zero to say that you've arrived and can safely round down to nothing? The answer: almost always sooner than you
think.

What Mead understood is that a psychological switch should flip as things head toward zero. Even though they may
never become entirely free, as the price drops there is great advantage to be had in treating them as if they were free.
Not too cheap to meter, as Atomic Energy Commission chief Lewis Strauss said in a different context, but too cheap
to matter. Indeed, the history of technological innovation has been marked by people spotting such price and
performance trends and getting ahead of them.

From the consumer's perspective, though, there is a huge difference between cheap and free. Give a product away
and it can go viral. Charge a single cent for it and you're in an entirely different business, one of clawing and
scratching for every customer. The psychology of "free" is powerful indeed, as any marketer will tell you.

This difference between cheap and free is what venture capitalist Josh Kopelman calls the "penny gap." People
think demand is elastic and that volume falls in a straight line as price rises, but the truth is that zero is one market
and any other price is another. In many cases, that's the difference between a great market and none at all.

The huge psychological gap between "almost zero" and "zero" is why micropayments failed. It's why Google doesn't
show up on your credit card. It's why modern Web companies don't charge their users anything. And it's why Yahoo
gives away disk drive space. The question of infinite storage was not if' but when. The winners made their stuff free
first.

Traditionalists wring their hands about the "vaporization of value" and "demonetization" of entire industries. The
success of craigslist's free listings, for instance, has hurt the newspaper classified ad business. But that lost
newspaper revenue is certainly not ending up in the craigslist coffers. In 2006, the site earned an estimated $40
million from the few things it charges for. That's about 12 percent of the $326 million by which classified ad
revenue declined that year.

But free is not quite as simple — or as stupid — as it sounds. Just because products are free doesn't mean that
someone, somewhere, isn't making huge gobs of money. Google is the prime example of this. The monetary benefits
of craigslist are enormous as well, but they're distributed among its tens of thousands of users rather than funneled
straight to Craig Newmark Inc. To follow the money, you have to shift from a basic view of a market as a matching
of two parties — buyers and sellers — to a broader sense of an ecosystem with many parties, only some of which
exchange cash.

The most common of the economies built around free is the three-party system. Here a third party pays to participate
in a market created by a free exchange between the first two parties. Sound complicated? You're probably
experiencing it right now. It's the basis of virtually all media.

In the traditional media model, a publisher provides a product free (or nearly free) to consumers, and advertisers pay
to ride along. Radio is "free to air," and so is much of television. Likewise, newspaper and magazine publishers
don't charge readers anything close to the actual cost of creating, printing, and distributing their products. They're
not selling papers and magazines to readers, they're selling readers to advertisers. It's a three-way market.

In a sense, what the Web represents is the extension of the media business model to industries of all sorts. This is
not simply the notion that advertising will pay for everything. There are dozens of ways that media companies make
money around free content, from selling information about consumers to brand licensing, "value-added"
subscriptions, and direct ecommerce (see How-To Wiki for a complete list). Now an entire ecosystem of Web
companies is growing up around the same set of models.

A TAXONOMY OF FREE

Between new ways companies have found to subsidize products and the falling cost of doing business in a digital
age, the opportunities to adopt a free business model of some sort have never been greater. But which one? And how
many are there? Probably hundreds, but the priceless economy can be broken down into six broad categories:
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* "Freemium"'
What's free: Web software and services, some content. Free to whon: users of the basic version.

This term, coined by venture capitalist Fred Wilson, is the basis of the subscription model of media and is one of the
most common Web business models. It can take a range of forms: varying tiers of content, from free to expensive, or

a premium "pro" version of some site or software with more features than the free version (think Flickr and the
$25-a-year Flickr Pro).

Again, this sounds familiar. Isn't it just the free sample model found everywhere from perfume counters to street
corners? Yes, but with a pretty significant twist. The traditional free sample is the promotional candy bar handout or
the diapers mailed to a new mother. Since these samples have real costs, the manufacturer gives away only a tiny
quantity — hoping to hook consumers and stimulate demand for many more.

Photo Illustration: Jeff Mermelstein
But for digital products, this ratio of free to paid is reversed. A typical online site follows the 1 Percent Rule — 1
percent of users support all the rest. In the freemium model, that means for every user who pays for the premium
version of the site, 99 others get the basic free version. The reason this works is that the cost of serving the 99
percent is close enough to zero to call it nothing.

+ Advertising
What's free: content, services, software, and more. Free to whom: everyone.

Broadcast commercials and print display ads have given way to a blizzard of new Web-based ad formats: Yahoo's
pay-per-pageview banners, Google's pay-per-click text ads, Amazon's pay-per-transaction "affiliate ads," and site
sponsorships were just the start. Then came the next wave: paid inclusion in search results, paid listing in
information services, and lead generation, where a third party pays for the names of people interested in a certain
subject. Now companies are trying everything from product placement (PayPerPost) to pay-per-connection on social
networks like Facebook. All of these approaches are based on the principle that free offerings build audiences with
distinct interests and expressed needs that advertisers will pay to reach.

: Cross-subsidies
What's fiee: any product that entices you to pay for something else. Free to whom: everyone willing to pay
eventually, one way or another.
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Scenario 3: It's a free second-gen Wiii! But only if you buy the deluxe version of Rock Band.

When Wal-Mart charges $15 for a new hit DVD, it's a loss leader. The company is offering the DVD below cost to
lure you into the store, where it hopes to sell you a washing machine at a profit. Expensive wine subsidizes food in a
restaurant, and the original "free lunch" was a gratis meal for anyone who ordered at least one beer in San Francisco
saloons in the late 1800s. In any package of products and services, from banking to mobile calling plans, the price of
each individual component is often determined by psychology, not cost. Your cell phone company may not make
money on your monthly minutes — it keeps that fee low because it knows that's the first thing you look at when
picking a carrier — but your monthly voicemail fee is pure profit.

On a busy corner in Sdo Paulo, Brazil, street vendors pitch the latest "tecnobrega" CDs, including one by a hot band
called Banda Calypso. Like CDs from most street vendors, these did not come from a record label. But neither are
they illicit. They came directly from the band. Calypso distributes masters of its CDs and CD liner art to street
vendor networks in towns it plans to tour, with full agreement that the vendors will copy the CDs, sell them, and
keep all the money. That's OK, because selling discs isn't Calypso's main source of income. The band is really in the
performance business — and business is good. Traveling from town to town this way, preceded by a wave of
supercheap CDs, Calypso has filled its shows and paid for a private jet.

The vendors generate literal street cred in each town Calypso visits, and its omnipresence in the urban soundscape
means that it gets huge crowds to its rave/dj/concert events. Free music is just publicity for a far more lucrative tour
business. Nobody thinks of this as piracy.

* Zero marginal cost
What's firee: things that can be distributed without an appreciable cost to anyone. Free to whom. everyone.

This describes nothing so well as online music. Between digital reproduction and peer-to-peer distribution, the real
cost of distributing music has truly hit bottom. This is a case where the product has become free because of sheer
economic gravity, with or without a business model. That force is so powerful that laws, guilt trips, DRM, and every
other barrier to piracy the labels can think of have failed. Some artists give away their music online as a way of
marketing concerts, merchandise, licensing, and other paid fare. But others have simply accepted that, for them,
music is not a moneymaking business. It's something they do for other reasons, from fun to creative expression.
Which, of course, has always been true for most musicians anyway.

* Labor exchange
What's free: Web sites and services. I'ree to whom. all users, since the act of using these sites and services actually
creates something of value.

You can get free porn if you solve a few captchas, those scrambled text boxes used to block bots. What you're
actually doing is giving answers to a bot used by spammers to gain access to other sites — which is worth more to
them than the bandwidth you'll consume browsing images. Likewise for rating stories on Digg, voting on Yahoo
Answers, or using Google's 411 service (see "How Can Directory Assistance Be Free?"). In each case, the act of
using the service creates something of value, either improving the service itself or creating information that can be

useful somewhere else.

* Gift economy
What's free: the whole enchilada, be it open source software or user-generated content. Free to whom: everyone.

From Freecycle (free secondhand goods for anyone who will take them away) to Wikipedia, we are discovering that
money isn't the only motivator. Altruism has always existed, but the Web gives it a platform where the actions of
individuals can have global impact. In a sense, zero-cost distribution has turned sharing into an industry. In the
monetary economy it all looks free — indeed, in the monetary economy it looks like unfair competition — but that
says more about our shortsighted ways of measuring value than it does about the worth of what's created.

THE ECONOMICS OF ABUNDANCE

Enabled by the miracle of abundance, digital economics has turned traditional economics upside down. Read your
college textbook and it's likely to define economics as "the social science of choice under scarcity." The entire field
is built on studying trade-offs and how they're made. Milton Friedman himself reminded us time and time again that
"there's no such thing as a free lunch.
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"But Friedman was wrong in two ways. First, a free lunch doesn't necessarily mean the food is being given away or
that you'll pay for it later — it could just mean someone else is picking up the tab. Second, in the digital realm, as

@ we've seen, the main feedstocks of the information economy — storage, processing power, and bandwidth — are
getting cheaper by the day. Two of the main scarcity functions of traditional economics — the marginal costs of
manufacturing and distribution — are rushing headlong to zip. It's as if the restaurant suddenly didn't have to pay
any food or labor costs for that lunch.

Surely economics has something to say about that?

It does. The word is externalities, a concept that holds that money is not the only scarcity in the world. Chief among
the others are your time and respect, two factors that we've always known about but have only recently been able to
measure properly. The "attention economy" and "reputation economy" are too fuzzy to merit an academic
department, but there's something real at the heart of both. Thanks to Google, we now have a handy way to convert
from reputation (PageRank) to attention (traffic) to money (ads). Anything you can consistently convert to cash is a
form of currency itself, and Google plays the role of central banker for these new economies.

There is, presumably, a limited supply of reputation and attention in the world at any point in time. These are the

new scarcities — and the world of free exists mostly to acquire these valuable assets for the sake of a business

model to be identified later. Free shifts the economy from a focus on only that which can be quantified in dollars

and cents to a more realistic accounting of a// the things we truly value today Iy i R f dvila
- D00k AANE o

FREE CHANGES EVERYTHING \ ¢

Between digital economics and the wholesale embrace of King's Gillette's experiment in pr:ce shlftmg, we are

entering an era when free will be seen as the norm, not an anomaly. How big a deal is that? Well, consider this

analogy: In 1954, at the dawn of nuclear power, Lewis Strauss, head of the Atomic Energy Commission, promised

that we were entering an age when electricity would be "too cheap to meter." Needless to say, that didn't happen,

mostly because the risks of nuclear energy hugely increased its costs. But what if he'd been right? What if electricity 715!, |

had in fact become virtually free?The answer is that everything electricity touched — which is to say just about |

everything — would have been transformed. Rather than balance electricity against other energy sources, we'd use |/

electricity for as many things as we could — we'd waste it, in fact, because it would be too cheap to worry about. -

All buildings would be electrically heated, never mind the thermal conversion rate. We'd all be driving electric cars
(free electricity would be incentive enough to develop the efficient battery technology to store it). Massive 1,0V
desalination plants would turn seawater into all the freshwater anyone could want, irrigating vast inland swaths and
turning deserts into fertile acres, many of them making biofuels as a cheaper store of energy than batteries. Relative

to free electrons, fossil fuels would be seen as ludicrously expensive and dirty, and so carbon emissions would
plummet. The phrase "global warming" would have never entered the language.

Today it's digital technologies, not electricity, that have become too cheap to meter. It took decades to shake off the
assumption that computing was supposed to be rationed for the few, and we're only now starting to liberate
bandwidth and storage from the same poverty of imagination. But a generation raised on the free Web is coming of
age, and they will find entirely new ways to embrace waste, transforming the world in the process. Because free is
what you want — and free, increasingly, is what you're going to get.

Chris Anderson (canderson@wired.com) is the editor in chief of Wired and author of The Long Tail. His next book,
FREE, will be published in 2009 by Hyperion.
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ACTIVITY 31
Costs of the Individual Firm

Part A.
Fill in the blanks and answer the questions.

i 1. M.L Fortunate was employed as plant manager for a corporation at a salary of

$50,000 a year, and she had savings of $100,000 invested in securities that yielded

; an eight percent annual income. She went into business for herself, investing all

1 her savings in the enterprise. At the end of the first year, her accounts showed a net
income of $55,000 after all expenses of operation. One accountant said this

: accounting profit represented a 55 percent return on her $100,000 investment.

a Another accountant, who had taken introductory microeconomics, said, “No, you

should pay yourself the $50,000 salary you would have earned anyway, and your

1 accounting profit of $5,000 represents a return of five percent on your investment

| of $100,000.” A serious student of introductory microeconomics, however, should

] say, “No, your true economic profit from going into business for yourself is

! 3 , and this is a return of percent.” Was M.I. Fortunate,
i fortunate? Yes or No and why?

6?’(: P(ﬁ Tk ¢

2. The table Aggregate and Unit Cost Structure on the following page shows a compre-
hensive set of cost data for a firm, with a given plant, at various levels of output.
Study this table to understand how it is set up.

kil it S

Marginal cost is the additional cost of producing an additional unit of output
(AC/AQ). 1f producing an additional 100 units of output adds $700 to total cost, the
marginal cost per unit is $700/100 = §7.00, etc. Note that in the table the “margin-
al” changes are located between output levels.

After you have filled in the blanks in the table, finish plotting the aggregate cost
data for fixed cost, variable cost, and total cost (not change in total cost) on the

| Graph of Aggregate Cost Data provided on page 113. Also, finish plotting the unit
cost data for FC/Q, VC/Q, TC/Q and ATC/AQ on the Graph of Unit Cost Data pro-
! vided on page 114. Note that marginal cost (ATC/AQ) is plotted midway between

the levels of output given in first column of the table Aggregate and Unit Cost
Structure.

3. After you have finished plotting, answer the eight questions that follow in Part B.

Adapted from Phillip Saunders, ntroduction to Microeconomics: Student Workbook, Fifteenth edition, Bloomington, IN, 1993.
Copyright ©1993 Phillip Saunders. All rights reserved.
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ACTIVITY 31 continued

Aggregate and Unit Cost Structure

Aggregate Cost Data Unit Cost Data
Average Average Average
Fixed  Variable Total Marginal
Quantity Fixed Variable Total Change in Cost Cost Cost Cost Plot
of Cost Cost Cost Total Cost FC vC 1.5 ATC MC at
Output  (FC) vQ) (TC) (ATC) Q Q Q AQ Output
0  $500 50 $500 XXX XXX XXX XXX
-------------------------- $700  --d----eiieeieiiiiiaaoooo 3700 ----50
100 500 700 1200 $5.00 $7.00 $12.00
---------------------- g s 600 --di-----i-aiiiiiiaoo 600 ---150
200 500 1300 [ g! )O 2.50 6.50 9.00
--------- ffemmmmmms 500 -edeeee e 5.00 ---250
300 9601800 7300 " - 167 600 1ib7
------------------ ( $odaizia ctoEmusssedsasssas . 7,00 222350
3 7, b
400 A 60 2500 i 1.25 6.25 7.50
-------------------------- 800 1-766 8.00 ---450
500 500 3300 3800 oy 6.60 / m—— 0
-------------------------- [}5') PR (SRR £ SR IPL PN NPV | SO WS /!!60,--550 / (U//O(j
600 500 4300 4800 | 206 83 7.7 8.00
------- j){j-‘-— ’4)"5-------------------—-/--.-7 12.00 ---650
700 5500 6000 71 786 Y,/

Part B.
Plot the appropriate data from the table on the graphs Aggregate Cost Data and Unit Cost Data on
pages 113 and 114 before answering the eight questions that follow.
1. Howis margma] cost (ATC/AQ) represemed in your graph Aggregate Cost Data?
\/o‘ -f.be (03 | { rst alCa T decege,. Ymonls — 11

< o
2. On your graph Unit Cost Data, total costjper unit (TC/Q or average total cost) is at a
minimum at an output level of _Y(j¢] units.

3. On your graph Unit Cost Data, variable Cost per unit (VC/Q or average variable cost)
is at a minimum at an output level of 300 units.

4. On your graph Unit Cost Data, what is the relation between marginal cost (ATC/AQ)
and average total cost (TC/Q) when average total cost is at its minimum?

v (4 al :, dme D "f
5. Onyourg brapﬁ what is the relation betv[;en marginal cost (ATC/AQ) and average
variable cost ﬁ/{C/Q) when average variable cost is at its minimum?

7 are C{{ T@ S 4y [d U.‘/’:

@' Explain why marginal cost on a unit cost graph always intersects average total cost
and average variable cost at their m1mmum pomts

4 [ " ’
| (4/1«!?/1 [V{C J(‘l(r)({ o (( )(J";) Tﬁﬁ’f’:‘ /'{!'-f( _ /"-,f

1
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ACTIVITY 31 continued

7. On your graph Unit Cost Data, what does the vertical distance between the TC/Q
curve and VC/Q curve represent?

Tl Fi xed Cost

8. Explain why fixed cost has no influence on marginal cost.

et N( }9 oaly 1Lt fi"c'f%‘% of Yy exfq v -

(At clhanae Wl oA DA aresd o . f [ -
ons thal chasge Wi odpur . Flxal {5 [dependes
Graph of Aggregate Cost Data o{ fr’ﬁft/r,/
i
56000 | | Y [l [ [ BN | | 1 | -
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! 1 NN . T 7 /€
5500 t : { Il ‘ | :rl : ‘.) y /(
SiEiesaisss S Eesaieus A
5000 - 1 | | | I: | | - [} -
| IJ | < ,
| i |
| | | | | P
4500 EEENE FEEEH -
| HH
A
4000 ' -
E -
< 3500 —— : -
8 l ! A !
U |\’ : [] ! 1 W’I, }
@ 3000 B i & i T
] 1 ¥ P! |
(@)] T 11 | A |
E ) T 1] [N N 4 | |
B 2500+ e 5o i 1 P D '
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1 | 1 | [
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O 11 | | | | | | | 11 .
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Quantity of Output

Note: Each small square = $100 on the vertical axis and 10 units of output on the horizontal axis.
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ACTIVITY 31 continued

Graph of Unit Cost Data
Marginal cost (ATC/AQ) is plotted between the output levels shown in the

table Aggregate and Unit Cost Structure on page 112.
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$.20 on the vertical axis and 10 units of output on the horizontal axis.

Note: Each small square
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Pick a partner. Person “A” does the odd numbers, while person “B” coaches. Then
“B” does the even numbers while “A" coaches.

You are in charge of an automo-

bile plant making a sports car
called the “Midi.” Your engi-
neering department estimates
your costs of production at:

You are told that you can sell up
to 10,000 cars a month at a price

0f $10,000 each.  ((y) 00 (00
! / s 0 \
1. What is your marginal revenue per car? $-‘—QLOO

Quantity
(# of cars)

5,000
5,500
6,000
6,500
7,000

Marginal
Costs

$8,000
8,500
9,000

10,000

12,000

2. By increasing your production from 5,000 cars per month to 5,001 cars, would
you increase your profits? Y 2s

to 7,000 cars? g” ;

3. The rule for profit maximization
Vi it

paoeg taal equals
O =

to 6,000 cars ? _» £z

4. Why do marginal costs increase?

L€

[ aw
&

f f l {4

7
1

A

/

o

|
L/ /M 1.0
L Y ¥

mé— M )acrcas
A ‘.;“‘_/‘.E“ f‘/-' ( ._'",,.," no /Prr} e 4

to 6,500 cars? N/
/ !

~

is to produce the quantity of cars where

, oY Y ion ¢ a7 Midi Car Market
‘( UV -i\’ ' " 5. What would you do if the P F 5 P , C =S/
‘ demand for these cars , / ) /.’ LI,
increased so that could selli 100 4 /
them for $10,500? (Show W
graphically for the Midi /™
market and for car market as \
a whole.) N [
. 0 i ‘L_ SE ¢ 0o Q@ Q
e 6. What if your workers gain an increase in their wages? What would happen to
' v 0 I( your average costs? What would happen to your level of production?
\ {, ] / ! f o . } S 1 l
‘\r AL . ,// A F{’ S QuCtiVA TAVAVAS '1.‘,-/'
e il | ' 7. Given your higher wage bill, why might you not be able to increase price?
r ¢ ( f{ J I L [- Y /V«il
1 A o | Midi Car Market
e . ' P ; P
On the other hand, why 2 4
— - might the price in the entire / €
. 177}/ car market rise? Show 1) ] =
\ ‘ _graphically, assuming all / Vol
| /. //!l(firms face increased wages. / ;
) 3 l ' /’. < f 1 4 ’ff /
. l f. B N /
Econorrit = = 9
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Mchat Vogm

The Sagetax Company is a small corporation that has an office with a com-
puter and other office equipment. A secretary handles correspondence, answers the
phone, schedules appointments and does general office work. The company’s fixed
costs are items such as office space, office equipment and the secretary’s services.
The fixed costs are $288 per week. The variable cost is the number of hours worked
by the owners. Each owner’s time is valued at $8 per hour. '
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Teams
Step 1
Individually solve the problem above, filling in the blank spaces. Remember that
MC = ATC / AQ
Step 2

Meet as a team to share your results. Correct any errors.
Step 3
In the space on the following page, graph MC, AFC and ATC.
Explain why AFC falls and-MC turns upwards.
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Step 4

Assume that Sagetax is a price taker and can sell all it wants at a price of $10. Add a
column for total revenue to the table, and fill in the total revenue for each Q.

Step 5
Add P=MR line to }’our graph above, and find the profit-maximizing level of
output.
| ] ] ! F (]
Stepﬁ WKI(F } 1{. , |[[‘°

Add a column for Profit for each Q on the table (TR - TC = Total Profit). What are
the profits for the level of output you chose in Step 5. Is it the same as your answer

to step 47
(If the Q is in between two numbers, you can find TC from the formula
TC = Q x ATC that output.)
My H L TC= LL(L-‘ g6 - / 37:6 } l _ 77 r\_/
' (0 - K="¢La
Step 7 O+ ot 566
Is Sagetax earning a normal profit, an economic profit or an economic loss? How
? - .
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ACTIVITY 39
Monopoly Pricing

Monopoly Pricing
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Use the graph Monopoly Pricing to answer these questions.

1.
] 7
. What is the price at that output? Eﬁ 0

O 0 N O e W N

—
o

11.

. What is total revenue at that output? __[J ¢

. What is total cost at that output?

4

What is the maximum profit output?

. What is revenue per unit at that output? _| 8

. What is cost per unit at that output? J ¢

/[ 79

g
{1 {
b ¢

. What is profit or loss per unit at that output? [0ro°
]

|
. What is total profit or loss at that output? pivh b s 5

. At what output and price combination would this firm break even? C /ALTS

. If this were a perfectly competitive industry (other than the fact that demand

would be perfectly elastic), excess profits would exist and new firms would enter
the industry. Since this is a monopoly situation and new firms cannot enter the
industry, what will happen to these excess profits?

—

" |
[,Z‘ 1 kb p . > . \ Lo .'I [ r <
¥l I W US iy { o ':: (,Q.\,"\U/r/fl( "J\j L) A A

I
| A T
'.\_ (AR ¢ =

Based on your answer to question 10, if this mdr{opoly were a government-
regulated monopoly and you were the government, what restrictions, regulations,
or requirements would you place on this company?

Wr%? (dps
P - -
o Jaxes

Exercise developed by James Chasey, Homewood-Flossmoor High School, Flossmoor, IL.
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Teams

Agree not to cheat on the assignment. So, don’t look at the graph on the backside of
this page until you have finished question 1.

In Panamint Valley, California there is only one gas station for fifty miles.
Your group owns the station.

1. What price would you charge? (It costs you $1.50 per gallon to get the gas, which
is trucked in a long distance.)

A. lowest price you would suggest: ey

B. highest price you would suggest:

C. a middle price: ) /Z

Price Qd
2. Now look at the graph on the L/ O i ()
reverse side. What was the quantity $ 4 sl
demanded at each of your ) Gag
suggested prices? ) g ¢ 00

Station
in Pana-
mint
Valley

©
=

3. Complete the following table for your suggested price:

Price Qd Total Revenue Total Cost  Total Profit
s"i 0 2000 3200 '.L.,UO(') 200
$ ] {/ ) )) 1 ._J /jO(\

$. ) 00 19} s 156

4. Given the graph on the next page, can you do better? Pick a price that will
maximize profits. ., 4 )
; / At

Il . i
¢ [ (

{ 6O —oee VK pext— poge
5. Explain why the Panammt Valley gas station will not gain more profit by charg-
ing a higher price. :

6. Label the profit-maximizing Q. Graph ATC. (Hint: It will be a straight line.)
Shade in TC, TR and profits.

Economics
LIVE / 31
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© Keenan & Maier



Demand for Gasoline in Panamint Valley
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il ACTIVITY 38
~  Pure Monopoly

Like other producers in a market economy, a pure monopolist tries to maximize profit by
producing at an output where marginal cost (MC) equals marginal revenue (MR). For a firm in
a competitive market, price and marginal revenue are the same, but for a monopolist, who
“sees” the entire market demand curve and who must charge all buyers the same price, marginal
revenue is below price. This activity considers the choice of output level by a monopolist.

Part A.
1. The table Pure Monopoly: Cost and Revenue Data presents a summary of the relevant
cost and revenue data facing a pure monopoly firm. Fill in the blanks in the table.

2. Complete the job of plotting the data for MC, MR, ATC (average total cost), and AR
(average revenue) in the graph Profit-Maximizing Equilibrium for a Monopoly. Since in
this problem output cannot increase by a fraction of a unit, the plotted data should
connect the points at the output intervals shown in the table.

Pure Monopoly: Cost and Revenue Data / ( ,,la__«;é ;]();';g [
Average Average ) /y
Quantity Total Marginal Total Total Marginal  Revenue P{f
of Qutput Cost Cost Cost Revenue Revenue (Price)
0 $0 30 £0 $0 U
--------------- £900 --------- 31,200 OA
~ 1 900 900 1,200 1,200 200
--------------- 700 ceemeee-- 900 -
2 1,600 i 800 2,100 -~ 1,050 JO0
_______________ ) G e B BE 2A)
3 2,100 700 2,700 900 /’ O()
S Bl u P U o 7 00 e T = oecnr e 300 ) '
A2) 2,400 406 3,000 120 (00
............... 600 p T —— (2 P :
5 3,000 (00 3,000 ;00 0
--------------- 1,200 70 -----=---- -300 Cls
6 4,200 % 2,700 w0’ - (500

Part B.
After you have completed the table and the graph, answer the questions in Part B by filling in the
blanks and shading in the area indicated in question 5. In order to make the mathematics easier,
plot marginal revenue and marginal cost at the whole numbers, not between the numbers.
e f P + o I
> { - 'i"-r :t"‘! '[(:' { |

1. A profit-maximizing monopolist would produce an output of A units.

A (] ; — i | /
2. At this level of output, MC is $ ’;"O(! per unit and MR is § _2 Q per unit. T

OO
3. At this level of output, the P)(C is § 86 19 per unit and the AR (prlce) 15 $ f ~) per unit.

50
4. This gives the monopohst an economic profit of $ 116 per unit for a total eco-

—a———

~ nomic profit of § _[ )6 N0 , _ ‘ \
{ “coJld Chgose € “‘L e
Adapted from Phillip Saunders, Introduction to Microeconomics: Student Workbook, Fifteenth edition, Bloomington, IN, 1993. 141

Copyright ©1993 Phillip Saunders. All nghts reserved. ¥ C
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ACTIVITY 38 continued i

5. Shade in the area on the graph that represents the total economic profit figure
indicated in your answer to question 4.
Profit-Maximizing Equilibrium for a Monopoly MC
$]200 | | J [ | | | | | | | &
| I AN |
\ ) | |
N\ ‘ s | f
1100 N '
N\ I AR mmn ]
] | I
] \‘\ B 1 1
1000 ™ ] m 7
N =
’ wf MR LR a‘ ] f
900 X RN M S AL 8
PSS N /
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800 : j \\ | ; I ] }i I i ' 1'!: \
h b | { Y ]
4 o i T L 0 P S 17(
R A PN DR MG TR i :
700 » ///‘ ,;’ / -+ B ,.’ ‘:P’- /»\if’_ A ” = _;:/-f‘/’»j;‘: L \“ 1/ /I
17V E - 7| T = = [~ ‘;'\“ - 1
g . A N == ST T N
PNz AR ZdD S N P o] e J1= ]
600 e G LT T AR | 1 =7 1
,I ]
N / s
\\ \ I N
500 , WA N : // ﬂ “ }
IS, B = | I
g | | ENANEREEE ] \/ émagc
400 1 ‘ “‘\ — 1 = | ‘ T
h Y |
[T N
300 1 S UL !
—
‘\
200
1T | 5
100 ] T ] Y ]
1 I N N ]
! I I ] ]
H I HHH i
0 | | 1S T
I ] N
| N\
[ |
-100 Y
N\
W
-200 = l N
| T 1
-300 - i mE ‘ MR
| ]
I I I
\ ; T T 1
1 2 3 (4) 5 6
Quantity of Output
Note: Each small square = $20 on the vertical axis and 1/10 unit of output on the horizontal axis.
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Lesson 22

Handout 40 (page 1) Date

Monopolies

You are about to play a game, after which there will be a discussion period centering on the questions
at the end of this handout. Please do not answer the questions until the game is over.

The board game Monopoly can clearly illustrate what has been called a noncoercive monopoly, that
is, one that can be created and expanded upon by an individual with sufficient skill and good fortune.
All players start in an equal position and all play by the same rules. They may buy, sell, or trade (or
do nothing) at the appropriate times, again under identical rules equally applicable to all participants.
Upon occasion the monopolist can lose his or her monopoly and even go bankrupt. In reality, however,
not everyone has to go by identical rules. Some organizations have a coercive monopoly—some have
government backing.

The Game
The rules of this game are the same as those of Monopoly, with these exceptions:—

The Monopolist
the “government” (your teacher) will select one person at each table to be the Monopolist. Like your
teacher, the government has the authority and power to make decisions.

If you are the Monopolist, you are given Boardwalk and Park Place at the start of the game. You may
erect houses and hotels at any time and assess the other players for one half the cost. After hotels are
erected you may charge any amount for rent up to the amount stated on the card or one-half the
renter’s cash, whichever is greater. You may also, of course, charge less if you wish, and you do not
have to charge each player the same amount.

Since you already have a monopoly you may not purchase additional properties. You must also pay
rent when applicable. You may not, however, go broke. Whenever you need cash for expenses, you may
assess the other players for the differences between the cost and your own cash supply. Be aware, too,
that the government has the authority to change any of the rules which you operate, so be sure to keep
the government satisfied with your performance.

The Oligopolists

In the event that the three properties of any one color are obtained by three males or three females,
they may form an oligopoly. The oligopoly must act in concert when erecting houses and hotels. That
is, a house or hotel must be placed on each of the properties at the same time, not one at a time. Each

oligopolist must bear his or her own cost.

When hotels are finally erected, the oligopolist may charge any amount for rent up to the amount stated
on the cards or one-third the renter’s cash, whichever is greater. The renter, however, is free to try to
negotiate a lower rent with either of the other two oligopolists. If the renter succeeds he or she merely
moves to that property and pays the rent. An oligopolist may of course go bankrupt or be forced to sell.
If this happens and the property is transferred to someone of the same sex, the oligopoly continues.
If it is transferred to a member of the opposite sex, the oligopoly is broken, all houses and hotels are

removed and the game continues.

© COPYRIGHT, The Center for Learning. Used with permission. Not for resale.
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In this game, you will play one member of a firm in an oligopoly. An oligopoly is
an industry dominated by a few firms. OPEC, the Organization of Petroleum
Exporting Countries, for example, is made up of 14 nations. The U.S. domestic auto
industry is dominated by three firms—GM, Ford and Chrysler.

Your goal in this game is to make as much money as you can for your firm. In each
round of play, you will decide to price your product at a high price of $4.00, or a
low price of $3.00. The other members of the oligopoly can decide to follow each
other’s decision, or to act independently. When one business in an oligopoly sets
the price, and the rest of the firms follow, it is called “price leadership.”

Your revenues are your money from the sale of your product. If you sell 30 at $4.00,
your revenues are $120.00. You have fixed and variable costs in producing your
product. Your fixed costs do not vary with the amount you produce, and are $55.00
each round. Rent, taxes, etc., represent your fixed costs. Your variable costs are
$1.00 per unit sold each round. Labor and raw materials are variable costs. If you
sell $30 units, your total cost is $85.00 ($55 fixed and $30 variable).

You make a profit
when your

revenues from

———
 — : _ sales are greater
—— than costs. If you

made $120 in
revenues, for
example, and
your total costs
were $85.00, your
profit would be
$35.00.

T =

The members of
your oligopoly
may decide to
compete with one
another, or to
agree on prices. A
wamning how-
ever! There can be
no verbal agree-
ments on prices.

To start, one
member of your oligopoly will go first and indicate by hand signal if he/she is
going to price high or low. The other two members privately record their price
decisions. Then you’ll figure out how you did.

Good luck.

continued

© Keenan & Maier
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Stakes
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Game of
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Pricing-Profit Situations (Oligopoly) |

Industry Individual Firm
Total Total Cost
Prices Total Sales | Revenue | $55 Fixed
(Firm Sales)| Sales Price |Quantity| P xQ [S1/Variable| Profit
H,H,H _ r - e
H=3%4 | | ]
w1080 | T
HLL - H=%4
i L=s3 | 56 | [506 | 105 | 4g
L,L,L 108 || L=s3 (0 9 7]
36,36,36

Profit or Loss Statement = &

(Read the results from the prepared chart as you play)

Industry Your Firm's Price
No. Situation (HorL) Profit Loss
1| 1ML ~L§
2 v
3 H L
4 L
5] )tl L] g
6 |
7 H )
8 e
9 LI
10 H H - 25
1| LU L ( ) -
12| | LL ( 7
13 L] L 17
14 [LL L {
15| LLL L |7
Column Totals > 710 i ¢F ]
Net Profit or Loss > [ ]
7 7] p © Keenan & Maier
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Pricing-Profit Situations (Oligopoly)

' - - -
| Industry Individual Firm
’ Total Total Cost
Prices Total Sales | Revenue | $55 Fixed
|(Firm Sales)| Sales Price |Quantity| P xQ |S1/Variable| Profit
. 7 y
HH.H £% 1l B e
= 9, e ))
303030 |- 22 H=54 | )L L LV 00
! H,H,L 100 1 \) by
= IS Ya
HLA o H=2%4 14
55020 Las3.|  &( O
L.L.L 108 - L83, | 5 b 00
36,36,36

Profit or Loss Statement - &

(Read the results from the prepared chart as you play)

Industry Your Firm's Price
No. Situation (Horl) Profit Loss
1 HLL H Ey;
2[EE 3Rk L &y
3 W L Y
4| Hp ;: ( H Z
5| H
6 i1 .f, L
7 { L L
8 { :r|‘ ‘.7";‘/1
9 I L |7
10 T E Lis
1 ML ! :
12 ML H H0
13 L 10
il L - 17
15 HL| L LS
Column Totals > (2935 [y f (o
Net Profit or Loss > [ g 3 ]

© Keenan & Maier
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AP Microeconomics Last Name:
With Dr. Reilly

Alternative Assessment for Unit 5: Microeconomics of Product Markets

We have a test over chapters 20 through 26 that is scheduled for April 7; the
test will follow the format of the AP exam--two short problems and one long
problems requiring use and manipulation of the graphic models we have learned on
the four types of market structure. If you do not plan on taking the AP exam,
then you might want to consider this opportunity.

The goal is to give you a way to demonstrate through research, reading, and
writing that you have learned how to analyze market structure and know how the
four models that we have studied apply to the real world. This assessment
consists of four steps

STEP 1: Locate a substantial article from a newspaper, magazine, or
scholarly source on the web about each of the four market structures
that we have studied: perfect competition, monopoly, monopolistic
competition, and oligopoly. The articles must have real
intellectualsubstance (nothing from People Magazine, for example);
they must be published in a respected source or be by a college
professor. I will show you how to determine this. Submit a copy of
the first page of your article to me for approval by March 31 at the
beginning of class; the first person to submit an article, gets it--
no duplication allowed. While you may use search engines to find
your articles, you also should check databases such as Ebscohost.
Submit a copy of you article and the complete correct URL.

STEP 2: Read each article and write an abstract, a one paragraph summary, to
be submitted with the article. Include a full, correct citation
for each article.

STEP [3: Write an essay evaluating the information you have learned from the
article in light of the theory that you have studied in chapters 20
through 26. In other words, compare the information from the
articles to the text and come to a conclusion.

STEP [4: Be prepared to engage in a discussion of your essay in class on
April 8.

This assignment is due at the beginning of class on April 7, 2008. If you
do not submit it at that time, I expect you to take the regularly
scheduled test




AP Microeconomics
With Dr. Reilly

Last Name:

Alternative Assessment for Unit 5: Microeconomics in the Movies

We have a test over chapters 20 through 26 that is scheduled for April 7; the
test will follow the format of the AP exam--two short problems and one long
problems requiring use and manipulation of the graphic models we have learned on
the four types of market structure. If you do not plan on taking the AP exam,

then you might want to consider this opportunity for a different type of
assessment using movies.

The goal is for you to demonstrate through viewing movies
that you have learned how to analyze market structure and

characteristics of these market structures in these films.

critically and writing
can recognize the
This assessment

consists analyzing four or the following four movies,

one for each market
structure:
Perfect Competition: “The River”
“Places in the Heart”
“Real Women Have Curves”
Monopolistic Competition: “Mystic Pizza”
Oligopoly: “Tucker”
“The Aviator” —
Monopoly: “Anti-trust”
“There Will Be Blood”
STEP 1: Watch your four films and create a correct MLA citation for each.

STEP 2: Find a substantial published review for each film, print out a copy to
be turned in with you essay. Create a correct MLA citation for each.
STEP 3:

Be prepared to engage in a discussion of your essay in class on
April 8.

This assignment is due at the beginning of class on April 7,
do not submit it at that time,
scheduled test

2008.
I expect you to take the regularly

If you
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ACTIVITY 50
The Derived Demand for a Product

The key to understanding how resources are priced in the factor markets is to see the relation-
ship between demand in the factor market and demand in the product market.

The demand for a resource (land, labor, capital, or entrepreneurship) is called derived demand
because it is derived from the demand for the goods and services that are produced by these
resources. To be more specific, the demand for any resource is the downward sloping portion of
the marginal revenue product curve. Let’s examine why this is so.

1. Complete the following chart Data for a Yo-Yo Manufacturer. The firm operates in a
perfectly competitive factor market and in a perfectly competitive product market.
In a perfectly competitive factor market, market supply and demand determine the
price of the factors of production, and in a perfectly competitive product market,
supply and demand determine the price of the product.

Data for a Yo-Yo Manufacturer

Marginal Physical

' Product _ Marginal
Units of Total (Marginal Product Total Revenue
Resource Product Product) Price Revenue Product

0 0 $2.00 30
------------------- 8 cmeeeeeeeecccae- b6
1 8 $2.00 $16 |
------------------- 6 cmeeeeeeeeeeeeeaoo 412

2 14 - $2.00 $28 -
___________________ ) L LT T T [0
3 19 $2.00 J 0 -
___________________ L' )
4 23 9 $2.00 )
___________________ > R b IR Wit S
5 26 /) $2.00 G ¢
6 28 | $2.00 4G
7 29 $2.00 50
\
gho'u)“—: \QlW'
ot dimunishing
Meuyns

9raded by Meqan Neion
Activity developed by John Morton. 183




Unit 4

ACTIVITY 50 continued

2. Use the answers you got in the last column of the chart on the preceding page
to graph marginal revenue product on Plotting Resource Price and Quantity for
Yo-Yos. Label the MRP curve, “MRP = D.”

Plotting Resource Price and Quantity for Yo-Yos
316
15

AN

.

) A

12 N

10

Resource Price

O = N W h U OV N @
(

1 2 3 4 5 6 7 8

Quantity of Resource Demanded
Yo-Yos

3. MRP depends on two variables. One is marginal physical product (MPP), sometimes \L
referred to as marginal product. The second variable is the price of the good or ser-
vice being produced. For each of the following situations, indicate whether the =>4
demand for a resource would increase or decrease. ‘ i

L \1) n/ a. A new yo-yo machine increases productivity. (¢
10NY S

) b. The price of yo-yos increases. 4.\_____( € | \u Mg/ ,,1 lf |
A¢mo '1(( f c. Better training increases the efficiency of yo-yo W0rkers. ; :_. Y /
d. The demand for yo-yos increases. | (¢ [¢50 ;- Jj r{/
e. New technology increases the output of yo-yo workers. i_,
f. Consumers tire of yo-yos. A €L L LG ;,' :Hﬂ—:—- N

ﬂ‘ ‘

/ /f\ \OAHOA 1 ' .
[‘“-/’ oA U’ C LA (}1 WU LOR
: Y AW 0 (Cp¥
. X P e
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Unit 4

ACTIVITY 51

How Many Workers Should Be Hired?

You are the president of Acme Yo-Yo Company,
a small manufacturing firm that produced
Supersonic Yo-Yos, a popular toy that makes a
“supersonic” noise when used.

Acme’s yo-yos are manufactured by yo-yo
makers working at two yo-yo making
machines. You have been estimating how many
yo-yos your company can make using different
numbers of workers, and you now have to
decide just how many workers Acme will hire.

Your study of your yo-yo making process has
shown that you can produce the following
number of yo-yos per day depending upon how
many workers you hire.

Workers Hired and Yo-Yos Produced

No. of Change in no.
No. of yo-yos produced of yo-yos
workers hired each workday produced
1 20 20
2 50 30
3 70 20
4 85 15
3 95 10
6 100 5

After the second worker is hired, hiring
more workers still increases the number of yo-

yos produced, but the extra number of yo-yos
produced gets smaller and smaller as more
workers are hired.

You have also learned that the market for
Acme’s yo-yos is such that Acme can sell as many
yo-yos as it wants each day for $2 each, and that
you can hire as many qualified yo-yo makers as
you need by paying each one $25 per day.

The table How Many Workers to Hire for §2
Yo-Yos can help you decide how many workers
to hire. First, you need to calculate the marginal
physical product, the additional output created
by one more worker.* You can do this by com-
paring the level of output with the level of output
from one less worker. Next, you need to calcu-
late how much revenue Acme will take in at
each possible level of output. Then you will
have to calculate how much additional revenue
is earned by hiring one more worker. You can
do this by comparing total revenue at one level
of output with total revenue at the next lowest
level of output. Finally, you can compare the
additional revenue from hiring each worker (this
is called the marginal revenue product of labor)
with the cost of hiring the additional worker
(which in this case is always $25 per day).

How Many Workers to Hire for $2 Yo-Yos

3 5
Marginal Physical Total 6 f
1 2 Product 4 Revenue Marginal ([
Number of Level of output (Extra output Price (PxQ, or Revenue
workers (number of yo-yos  from hiring one  at which yo-yos col. 4 x Product 1
hired produced per day) more worker) can be sold col. 2) (col. 3 x col. 4) ~
0 0 £2.00 30
---------------------- 20 - e e -o----- %40
1 20 0 $2.00 (%20 x 2) = 340 FJ
2 50 . $2.00 100 y
______________________ / R ¢
3 70 $2.00 |40 26
4 85 : $2.00 | 70 1y
5 95 $2.00 10
6 100 $2.00
* Some textbooks call this marginal product. 185

Adapted from Student Activities to Accompany the People on Market Street Series, Indiana Council on Economic Education,

Purdue Research Foundation, 1983.
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ACTIVITY 51 continued

1. Why does the number of extra yo-yos produced decrease as more workers are ] ,f A /
hired? AT M
- MY 71 A 1 2 " ) y 1 _ YN A
- TRl wol Wi | -lo Mo Slaadlag  Oconl R Sl
‘_ -/ S0 ‘Lf‘ff"{s/’;
y f inos t -~ P
(c; yma( 1i€és N 7 0 3 > - J

2CC :‘I “

2. If the wage is $25 per day, how many workers should Acme hire? Iﬁ_ Why?
MmN N | 7 s
I (\ P fnovig -~ } (0 Vi WS
4 VO ks et ts 1 wilhevl  GOing pue
, J7

)

3. If the demand for yo-yos increases so that Acme can sell as many yo-yos as it wants
for $3 each, what effect will this have on Acme’s level of employment?

\(PS ) !1_2 /,i‘ CJJ'J

| \
|

URYI f?‘ﬂ'(j‘bg Y Ol oy

| / Y.

4. In order to make as much profit as possible, a firm should hire an additional

worker as long as that worker’s 10 o) is greater than
hisorher_ [\ /[ /T ¢
V) { ‘b /, [/

186
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ACTIVITY 53
Factor Market Pricing

Part A.
1. Fill in the blank spaces in the table Number of Workers Hired in a Competitive Market.
Note that marginal figures are placed between levels of employment.

2. If the product of this firm sells for $3.00 in a purely competitive market and the
costs for wages and benefits for each worker hired are $60 per day, how many ' _‘ g,
workers would be hired? _(p .

/) \ t 10(
3. At this employment level, total wage and benefit cost is $§ <\ ( per day; total 4 l', L
5 Y . A Ve = 8]
revenue is $ _</{() ; and the differenceis § _ |7/ . A
T 2 Uy I

— ﬂl‘
L

4. What is th({i daily wage and benefit cost below which a seventh worker would be
hired? § 17

5. If the price of the competitive firm’s product increased to $5.00, how many workers
would be hired at a wage and benefit cost of $60.00 a day?

Number of Workers Hired in a Competitive Market

Employment Total Marginal
No. of Output Physical Marginal Revenue
Workers per Day Product Product (AR/AL)
(L) (Q) (AQ/AL) P=13$3.00 P=$5.00
0 0
------------------ 20 $60 $100
1 20 ,
------------------ 30 10 150
2 50 ) *7
------------------ 35 105 S
3 85 % |,
.................. 30 ) 120
4 115 |
.................. 29 75 e
5 140 .
------------------ L0 LO € 100
6 160 y i
.................. 45 P
7 175 . . &
__________________ 10 509 5.
8 185
__________________ 15 [
9 190 A
.................. [l} W/ O
10 190
------------------ -5 -15 -25
11 185
Adapted from Phillip Saunders, Introduction to Microeconomics: Student Workbook, Fifteenth edition, Bloomington, IN, 1993, 189

Copyright ©1993 Phillip Saunders. All rights reserved.



ACTIVITY 53 continued

Part B.
Assuming that there is a competitive market at Siwash University, graduate students can earn
money by working for professors as Research Assistants (RAs) or as Teaching Assistants (TAs).
A survey gives the following results:
RAs Who Would Be Hired TAs Who Would Be Hired
No. of Grad No. of Grad
Students No. of Grad Students No. of Grad
Professors Students Professors Students
Monthly Would Hire Who Would Monthly Woculd Hire Who Would
Salary (D) Work (S) Salary (D) Work (S)
$500 0 60 $500 10 50
450 10 50 450 20 40
400 20 40 400 30 30
350 Go 30 350 40 20
300 40 20 300 50 10
250 50 10 250 60 0
RAs-Supply and Demand TAs-Supply and Demand
$500 ] $500 S
450 ‘ 450 <
. 400 ¥ # 400 1= <
350 F ) 350 ]
300 A— 300
2 & {‘ D | \h [‘J‘
50 X 250 ~/
0 10 20 30 40 50 60 0 10 20 30 40 50 60
Follow directions, fill in the answer blanks, or cross out the incorrect words in parentheses.
1. Draw in the supply curve of RAs (left diagram) and label it “S.”
2. Draw in the demand curve for TAs (right diagram) and label it “D.”
3. a. The equilibrium wage for RAs is § )
b. The equilibrium wage for TAs is $ )0 .
4. At these wages how many students would be hired? as RAs as TAs
S. Suppose research assistants formed a union and agreed not to work unless they
received $400 a month.
) a. How many RAs would be employed at $400 a month? )
)
b. How many previously employed RAs would be out of a job at $400 a month? _{1J
!'/’l (‘ J I L i
L —_—




Unit 4

ACTIVITY 53 continued

6.

If these unemployed RAs start looking for work as TAs, what would happen in the

TA market at the old equilibrium wage? There would be an excess (demand/supply).

Under these circumstances, what would you expect to happen to the equilibrium
wage of TAs? It would tend to (rr‘se/f@)f )

In the TA market, would this be a shift in the supply curve or a move along it?
(shift/move) b

If more TAs are employed at a new equilibrium wage rate, would this be the result
of a shift in the demand curve or a move along it? (shift/move)

191



ACTIVITY 54

What Is the Optimum Allocation
of Resources?

1. The table Total Production Employing Varying Amounts of Resource A shows the total

production a firm will be able to obtain if it employs varying amounts of resource A

while the amounts of the other resources the firm employs remain constant.

a. Compute the marginal product of each of the seven units of resource A and
enter these figures in the table.

b. Assume the product the firm produces sells in the market for@go ‘per unit. P
Compute the total revenue of the firm at each of the eight levels'of output \ vLAL
and the marginal revenue product of each of the seven units of resource A. P
Enter these figures in the table. | )

Total Production Employing Varying Amounts of Resource A ] v L7

Quantity of T Marginal PIYS, A
Resource A Total Marginal Total revenue S Sl
employed product  product of A revenue  product of A
0 0 3 O 2
--------------------- l/ "—--"-%S----s I(f
_____ L O (o S -e-- SO |
_____ R N -~ SRR
: I 3 W
3 30 / 25 g
4 36 < (
5 40 'r'/[] 2
..................... . ------.(-,--- -
6 42 ‘ b 2 | ¢
= mumemamen e Ribon Banld b Ris 0 SEEERGLpERE R
7 43 VY

c. On the basis of your computations, complete the firm’s demand schedule
for resource A by indicating in the table Demand Schedule for Resource A the
number of units of resource A the firm would employ at the given prices.

Demand Schedule for Resource A

Quantity of /"?‘ i / MR /:’

Price of A A demanded bk |
$21.00 O il e
18.00
15.00
12.00
9.00
6.00
3.00
1.50

-

Activity developed from Robert C. Bingham and William B. Walstad, Study Guide to Accompany McConnell and Brie 193
Economics, (New York: McGraw-Hill Book Co., 1993), pp. 316-317.
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¢« ACTIVITY 54 continued

~
2. The table Marginal Product Data for Resource B shows the marginal product data for
resource B. Assume that the quantities of other resources employed by the firm
remain constant. [ —

a. Compute the total product (output) of the firm for each of the seven quan-
tities of resource B employed and enter these figures in the table.

b. Assume that the firm sells its output in an imperfectly competitive market
and that the prices at which it can sell its product are those given in the table.
Compute and enter in the table:

1) Total revenue for each of the seven quantities of B employed.
2) The marginal revenue product of each of the seven units of resource B.
¢. How many units of B would the firm employ if the market price of B were:
1) s25_0 4) 590 |
2) $20_| 5) $5_Y [c 3 /| RP-fp (
3) $15_72 6) $1_Y  ldoa T neel
Marginal Product Data for Resource B
" [ Y )
Quantity of | | [ FER Marginal
resource B {010 Iwallma m.'. Product Total revenue
employed product product of B price revenue product of B
0 0 — $0.00
~ e e e e mmm— e 7’/ ______________ wos e 27
1 22 \ $1.00 27 (.7
___________________ R i e S R g B S i )i
2 (3 2 90 0¥ 0.0
................... ( '"f( [
/ P _—— L’ ( ——
3 (L7 19 ) .80 o —
"""" Femisiomne sume moS o = At < ¥
4 9% 16 () 70 L -
s o 12 — T ST ——
__________ ) P —— 9 R REEE T TP R w13
6 v 7 50 [3.5 g
________ (.);/-----_--- ( 5 SR i Sl BIRUARR SR & '—Qﬂj
7 4§ 40 7 ¢
7
oA
) fi\ ir 1
I .._i_," ~ / F 7
¥
-.'I"Jui?’\ f(_rl\\ (.\)ﬂ’!)){'(lf{tJ l
i
194
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Unit 4
ACTIVITY 54 continued

3. The table Marginal Revenue Data for Resources C and D shows the marginal product

and marginal revenue product schedules for resources C and D. Both resources are
variable and are employed in purely competitive markets. The price of C is $2 and
the price of D is $3. Resources C and D are substitutable.

s

Marginal Revenue Data for Resources C and D,

/’f//

¢ 4
— A - .

" L —_ = T

f

V1

Quantity of W l{l Marginal Quantity of \} Marginal U
il = resource C Marginal revenue resource D Marginal revenue
D ? \ employed  product of C product of C employed product of D product of D
! ,) 1 v § 500 1 21 //_ FAY 4
---------- &Y s ad)| --------- 2 V0 stem9 9 gy
2 2 r .
---------- BYY a3 .. B omEYso
3 ! 3 '
---------- £ 3@ 250 ... é\‘l"/ 74.5 é.Lh)
4 4 T )
---------- B Ul 28020 --------- B 93 edFYIVD
5 5 f
.......... K] 280 15D - S O] s 300
6 | M 6 T | ‘\\
---------- 32  wof crmesesas @ 5 3?(,3-19
7 7 £ ‘
---------- ? 150 2 um g s M )
o0
\ The least-cost combination of C and D that would enable the firm to produce:
M P 1) 64 units of its product is | Cand_-~_D. _ '\_[_L_. _ a0 gt 9
il 2) 99 units of its product is Cand_5 DV 2 =
E—— " flodd vp 1w Wple 1, ocder il (V . -
b. The'profit-maximizing combinationef Cand Dis _~ Cand » D.

When the firm émpIO};’s the profit-maximizing combination of C and D,
it is also employing C and D in the least-cost combmatlon because
M E [ mpp-pmr) equals

{ITJ""l/

Cesour € pi g4 f‘
T

Examination of the figures in the table Marginal Revenue Data for Resources C
and D reveals that the firm sells its product in a __ competitive
\ market at a priceof ___50 [ . o '

f ¥ | 4/ 71
-~ ;‘,‘t'.)r A4 I f rivg { (1

\._____h___ = e (]
e. Employing the proﬁt max&mlzmg combmatlon of ﬁand D, the firm’ st
Ol «(€ \_ 7

ny

p / oy ; ( ~ A
i aft eaclt op

i AV

fiag T

1) Total output is

( A 2) Total revenue is J N . . ! vl /PO
oV SR Y
[ 3) Total cost is 4 I 17 At
4) Assuming resources C and D are the only inputs, total profit is 2) )

19!
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* ACTIVITY 54 continued

IP.
4. Acme Yo-Yo, Inc., can hire labor for $2 per unit and capital at $4 per unit. The firm
can produce 50 yo-yos using any one of the three following combinations of factors:
Method of Production
A B e
Units of labor 2 5 6
Units of capital 9 7 3
o 37 Q2
a. Should Acme use method A, B, or C? _( _ Why?
)gv\/ﬂ;s' jm’fc{f C 054 0
b. How much profit will Acme make if it uses its most profitable combination
and sells the yo-yos for $1 each?
\
([ ) =) ~ A J
) O - ¢ | &

196



March 2008

The Economy Today

NEWS FLASH .

L the abe

Newsletter for Teachers of Economics to accompany Bradley R. Schiller’s The Economy Today and Essentials ofEconomtcs texts.

Re-Thinking Inequality Trends

Americans are clearly convinced that
America 1s becoming a nation of “Haves”
and “Have-nots.” Public opinion polls
reveal that 60-70 percent of the population
perceives that the “rich are getting richer”
while the “poor are getting poorer.” These
perceptions of wide and increasing inequality
add intensity to political debates about tax
reform (“tax cuts for the rich”), poverty
policy, and income support for the middle
class (relieving the “middle class squeeze”™)

Census Data

The empirical foundation for these
perceptions resides in data from the ULS.
Bureau of Census. Every March the Census
Bureau surveys a cross-section of 60,000
households. Those annual surveys are the
primary source of all information about
U.S. household incomes. They allow us to
depict not only the distribution of incomes
in any given vear, but also to track changes
in the distribution over time. The annual
Census surveys also provide the data for
counting the number of “poor”™ people in
the United States and tracking changes in
poverty rates over time. Though not perfect,
the Census data are universally regarded as
the most reliable source of statistical infor-
mation on U.S. household incomes.

First Impressions

Data from the annual Census surveys
do seem to validate popular sentiment.
They show, for example, that lower-income
households are getting a tny slice of the
income pie while upper-income house-
holds are gorging themselves, In 2006,
the lowest quintile (bottom twenty percent
of households ranked by income) got only
3.4 percent of America’s fotal income.
The highest quintile, by contrast, got a
whopping 50.5 percent of the total. Were
incomes distributed equally, every quintile
of the populaton would get 20 percent
of the pie. But this is clearly not the case:
the share received by the “rich” (the top

Aqmmllc. is 15 umes larger than the slice

received b\ the [)OOI' (the bottom ql.llﬂllil?

Worse vet, it appears that the divide
between the “Haves™ and the “Have-nots™

is growing. As the following table reveals,
the income shares of the top and bottom
quintiles have gotten fﬂfrmhcaml\ more
unequa[ over time: S )

Income Shares

Top Quintile Bottom Quintile

1970 433 4.1
1980 4.1 | 42 1 .
1990 465 f { 38 |
2000 494 | 36 }
2006 505 4/ 34

Of particular political concern here is
how the shrinking slice of the bottom quin-
tile has made the poor “poorer.”

Poor Not Getting Poorer

The jump from the observaton of declining
income shares to the nouton that the
“poor are getting poorer” confuses relative
incomes and absolute